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Aä¶mgH«$‘
1) Mmcy KS>m‘moS>r
2) ZmJ[aH$emó
3) AmYw{ZH$ ^maVmMm {deofV… ‘hmamï´>mMm B{Vhmg
4) ŷJmoc (‘hmamḯ>mÀ¶m ̂ yJmocmÀ¶m {deof Aä¶mgmgh)
5) AW©ì¶dñWm
6) gm‘mÝ¶ {dkmZ
7) ~w{Õ‘mnZ MmMUr d A§H$J{UV

1) Mmcy KS>m‘moS>r - OmJ{VH$ VgoM ^maVmVrc.
2) ZmJ[aH$emó - ^maVmÀ¶m KQ>ZoMm àmW{‘H$ Aä¶mg,  amÁ¶ ì¶dñWmnZ (àemgZ), J«m‘ ì¶dñWmnZ (àemgZ).
3) AmYw{ZH$ ̂ maVmMm {deofV… ‘hmamḯ>mMm B{Vhmg
4) ŷJmoc (‘hmamḯ>mÀ¶m ̂ yJmocmÀ¶m {deof Aä¶mgmgh) -

n¥Ïdr, OJmVrc {d^mJ, hdm‘mZ, Ajm§e-aoIm§e,  ‘hmamï´>mVrc O{‘ZrMo àH$ma, nO©Ý¶‘mZ, à‘wI {nHo$, ehao, ZÚm,
CÚmoJY§Xo BË¶mXr.

5) AW©ì¶dñWm -
^maVr¶ AW©ì¶dñWm-amï´>r¶ CËnÞ, eoVr, CÚmoJ,  naH$s¶ ì¶mnma, ~±qH$J, cmoH$g§»¶m,  Xm[aÐç d ~oamoOJmar, ‘wÐm Am{U
amOH$mofr¶ ZrVr,  emgH$s¶ AW©ì¶dñWm-AW©g§H$ën, coIm, coImnarjU.

6) gm‘mÝ¶ {dkmZ -
^m¡{VH$emó ({’${O³g), agm¶Zemó (Ho${‘ñQ́>r), àm{Uemó (Pycm°Or), dZñn{Vemó (~m°Q>Zr), Amamo½¶emó (hm¶OrZ).

7) ~w{Õ‘mnZ MmMUr d A§H$J{UV -
~w{Õ‘mnZ MmMUr - C‘oXdma {H$Vr bdH$a d AMyH$nUo {dMma H$é eH$Vmo ho AO‘mdÊ¶mgmR>r àíZ
A§H$J{UV - ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma,  Xem§e AnyUmªH$ d Q> o̧$dmar

‘hmamḯ> AamOn{ÌV godm (JQ> ~ d JQ> H$) nyd© narjm 2023
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‘hmamḯ> AamOn{ÌV godm (JQ> ~ d JQ> H$) nyd© narjm 2023

Gr B & C Combined Preliminary Examination - 100 Points

100  ‘hÎdmMo  ‘wÔo  :  gm‘mÝ¶ j‘Vm MmMUr nona

(1)AmYw{ZH$ ^maVmMm {deofV… ‘hmamḯ>mMm B{Vhmg
1) ẁamo{n`Z Am{U A±½bmo - {~«{Q>e ẁÕo
2) {~«{Q>e àemgZ - JìhZ©a OZaëg Am{U ìhmB©gam°̀ m§Mr ŷ{‘H$m
3) {~«{Q>e amOdQ>rVrb KQ>ZmË‘H$ gwYmaUm, H$m`Xo, Am¶moJ d g{‘Ë¶m
4) gm‘m{OH$ Ym{‘©H$ gwYmaUm
5) {ejU Am{U àog
6) {~«{Q>e amOdQ>rMm Am{W©H$ n[aUm‘
7) amï´>dmX Am{U amOH$s` g§KQ>Zm§Mm CX`
8) H«$m§{VH$maH$ g§KQ>Zm d amï´>dmX
9) H$m±J«og nj - g§ñWmnH$, A{YdoeZo, R>amd
10) ñdmV§Í¶ Midi - H$m±J«og, ñdXoer, Agh`moJ, g{dZ` H$m`Xô §J, ^maV N>moS>mo
11) eoVH$ar Am§XmobZ Am{U H¥$fr gwYmaUm
12) H$m‘Jma Midir Am{U H$m‘Jma g§KQ>Zm
13) ‘wpñb‘ brJ Am{U ’$miUr
14) ñdmV§Í¶ Am{U g§~§{YV g‘ñ`m
15) g§̀ wº$ ‘hmamï´> Midi d ñdmV§Í¶moÎma ^maV

History of Modern India especially of Maharashtra (15)
1) Europeans & Anglo - British Wars

2) British  Administration - Role of GGs & viceroys

3) Constitutional and reform Acts, laws during British Rule

4) Sociorelegious reforms

5) Education & Press

6) Economic Impact of British rule

7) Rise of nationalism & political organisations

8) Militant Nationalism

9) Congress Party - Founders, Sessions, Resolutions

10) Freedom movement - Congress, Swadeshi, Noncoopeartion, Civil Disobedience, Quit India

11) Farmers agitation and agricultural reforms

12) Labour movements & Trade Unions

13) Muslim League & partition

14) Independence & related issues

15) Samyukt Maharashtra Movement
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(2) ŷJmoc (‘hmamḯ>mÀ¶m ŷJmocmÀ¶m {deof Aä¶mgmgh)
* n¥Ïdr, OJmVrc {d^mJ, hdm‘mZ, Ajm§e-aoIm§e,  ‘hmamḯ>mVrc O{‘ZrMo àH$ma, nO©Ý¶‘mZ, à‘wI {nHo$, ehao, ZÚm,

CÚmoJY§Xo BË¶mXr.
16) n¥Ïdr - gỳ ©‘mbm
17) Ajm§e Am{U aoIm§e - à‘mU Am{U ñWm{ZH$ doi
18) ŷH§$n Am{U Ádmbm‘wIr, IS>H$, ^m¡Jmo{bH$ d¡{eï²> ò
19) OmJ{VH$ {d^mJ - nd©V,
20) hdm‘mZ - dmVmdaU, dmao Am{U ‘hmgmJa àdmh
21) nO©Ý¶‘mZ
22) ZÚm - YaUo Am{U àH$ën
23) ^m¡{VH$ ŷJmob - nd©V, nR>ma, dmid§Q>, {H$ZmanÅ>r, ~oQ>o
24) dZo Am{U dZñnVr - n`m©daU
25) ‘hmamï´>mVrb O{‘ZrMo àH$ma
26) à‘wI {nHo$ - eoVr
27) ehao
28) Am{W©H$ ŷJmob - I{ZOo Am{U D$Om© g§gmYZo, dmhVyH$ Am{U n ©̀Q>Z
29) CÚmoJ
30) amOH$s` ŷJmob - bmoH$g§»`m, ^mfm, O‘mVr Am{U d§e, ñWmZo Am{U gr‘m

Geography with special study of Geography of Maharashtra (15)
16) Earth - Solar System

17) Latitude and longitude -  Standard & Local Time

18) Earthquakes & Volcanoes, Rocks, Geographical Features

19) World divisions - Mountains,

20) Climate - Atmosphere, Winds & Ocean Currents

21) Rainfall

22) Rivers - dams & projects

23) Physical geography - Mountains, Planes, Plateau, Desert, Coastal areas, Islands

24) Forestry - Vegetation & Environment

25) Soil types in Maharashtra

26) Major crops - Agriculture

27) Cities

28) Economic Geography - Minerals and Energy Resources, Transport & Tourism

29) Industries

30) Political Geography - Population, Languages, Tribes and Races, Locations & Boundaries

(3) ZmJ[aH$emó
* ^maVmÀ¶m amÁ¶KQ>ZoMm àmW{‘H$ Aä¶mg,  amÁ¶ ì¶dñWmnZ (àemgZ), J«m‘ ì¶dñWmnZ (àemgZ)
31) g§{dYmZ g^m, òmoV, g{‘Ë`m, {MÝho
32) àñVmdZm, R>iH$ Am{U ‘yb ŷV d¡{eï²> ò, H$b‘o
33) ‘yb ŷV h¸$/E’$Ama, S>rnr, E’$S>r
34) KQ>Zm XþéñË¶m, Am`moJ Am{U ‘§S>io
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35) H|$Ð-amÁ` g§~§Y, amÁ¶ {Z{‘©Vr
36) Ý`m`nm{bH$m
37) amÁ` gaH$ma Am{U àemgZ - H$m ©̀H$mar, {d{Y‘§S>i
38) ñWm{ZH$ ñdamÁ¶ g§ñWm§Mr CËH«$m§Vr, 73 dr Am{U 74 dr XwéñVr
39) J«m‘n§Mm`V, VmbwH$m n§Mm`V, {Oëhm n[afX Am{U J«m‘{dH$mg
40) {Oëhm àemgZ

Civics (10)
31) Constituent Assembly, Sources, Committees, Symbols

32) Preamble, Salient & Basic features, articles

33) FRs, DPs, FDs

34) Amendments,Commissions and Boards

35) Centre - State relations, New States

36) Judiciary & Indian Union

37) State Government and Administration -  Executive,  Legislature

38) Evolution of LSG, 73rd & 74th Amendment

39) Grampanchayat, Taluka Panchayat, Zilla Parishad & Rural development

40) District Administration

(4) AW©ì¶dñWm
* ^maVr¶ AW©ì¶dñWm-amï´>r¶ CËnÞ, eoVr, CÚmoJ,  naH$s¶ ì¶mnma, ~±qH$J, cmoH$g§»¶m,  Xm[aÐç d ~oamoOJmar, ‘wÐm

Am{U amOH$mofr¶ ZrVr,  emgH$s¶ AW©ì¶dñWm-AW©g§H$ën, coIm, coImnarjU
41) amï´>r` CËnÞ - OrìhrE, OrS>rnr
42) ‘hmJmB© - H$maUo, n[aUm‘, {Z §̀ÌU
43) H¥$fr - J«m‘rU {dH$mg Am{U ghH$ma joÌ
44) CÚmoJ - nm`m ŷV gw{dYm Am{U godm joÌ
45) Am{W©H$ gwYmaUm - joÌr` dmT>, EgS>rOr, ‘°H«$mo BH$m°Zm°{‘Šg
46) {dXoer ì`mnma - AmH$ma‘mZ, {Xem Am{U aMZm
47) ~±qH$J - MbZ nwadR>m, H«o${S>Q> Am{U ‘m°{ZQ>ar nm°{bgr
48) bmoH$g§»`m - bmoH$g§»`m MH«$, bmoH$g§»`m YmoaU
49) J[a~r - g§H$ënZm, J[a~rMo ‘moO‘mn, Xm[aX²Œ¶ {Z‘y©bZ H$m ©̀H«$‘
50) amoOJma {Z{‘©Vr H$m ©̀H«$‘
51) {dH$mg H$m ©̀H«$‘ - ‘{hbm, ‘wbo, Á òð> ZmJ[aH$ `m§À`m g§X^m©V
52) Am{W©H$ Am{U {dÎmr` YmoaUo - H$a ‘hgyb
53) AW©g§H$ën
54) gmd©O{ZH$ IM©
55) boIm Am{U boImnarjU

Economy - Indian Economy & Government Economy (15)
41) National Income - GDP, GVA,

42) Inflation - causes, effects, control, measures

43) Agriculture -  Rural Development  & Co-operative sector

44) Industry -  Infrastructure and Services Sector
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45) Economic reforms  - Sectoral  growth,  MDG, SDG, Macro Economics

46) Foreign Trade - Volume, direction & structure

47) Banking - Credit and Monitory policies

48) Population - Demographic cycle, Population Policies

49) Poverty - Concepts, Measurement and estimates of poverty, Alleviation programs

50) Employment Generation programs -

51) Development Programs -  with respect to women, children, senior citzens

52) Monetary and Fiscal Policies - Taxes

53) Budget

54) Public Expenditure

55) Accounts & Audit

(5) gm‘mÝ¶ {dkmZ
* ^m¡{VH$emó ({’${O³g), agm¶Zemó (Ho${‘ñQ´>r), àm{Uemó (Pycm°Or), dZñn{Vemó (~m°Q>Zr), Amamo½¶emó

(hm¶OrZ)
*  ̂ m¡{VH$emó ({’${O³g)

56) JVremó, CîUVm, bhar - àH$me, ÜdZr, {dÚwVMw§~H$s¶ bhar
57) {dÚwVemó, Mw§~H$Ëd
58) AUw{dkmZ, IJmobemó Am{U A§Vami {dkmZ

*  agm¶Zemó (Ho${‘ñQ´>r)
59) AmdV© gmaUr - YmVy Am{U AYmVy
60) amgm`{ZH$ A{^{H«$`m - Amåb, jma, g§̀ wJo
61) g|{Ð` agm`Zemó - hm`S´moH$m~©Ýg, H$sQ>H$ZmeHo$, B§YZ, dm ỳ, IVo

*  àm{Uemó (Pycm°Or)
62) noer{dkmZ d M¶mnM¶Z
63) àmÊ`m§Mo dJuH$aU Am{U CXmhaUo, àmUr eara{dkmZ
64) Cn ẁº$ Am{U hmZrH$maH$ àmUr - newnmbZ, Xw½Yì`dgm`, Hw$ w̧$Q>nmbZ

*  dZñn{Vemó (~m°Q>Zr)
65) dZñnVtMo dJuH$aU Am{U CXmhaUo
66) H¥$fr{dkmZ d dZemó
67) Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr - ’$bmoËnmXZ Am{U ’w$beoVr

*  Amamo½¶emó (hm¶OrZ)
68)  ‘mZdr eara àUmbr - MoVmg§ñWm, aº$m{^gaU, nMZ d CËgO©Z g§ñWm, ñZm¶y d ApñW,
69) Amamo½` Am{U amoJ - amoJàgma d H$maH$ KQ>H$, amoJ{ZXmZ, CnMma Am{U H$m ©̀H«$‘
70) AÞ Am{U nmofU - ‘°H«$mo d gyú‘ nmofU Ðì¶o, OrdZgÎdo

General Science (15)
56) Dynamics, Heat, Waves - Light, Sound, EM spectrum

57) Electricity, Magnetism,

58) Nuclear science, Astronomy & Space science

59) Periodic Table - metals & nonmetals

60) Chemical reactions - acids, bases, compounds
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61) Organic chemistry - hydrocarbons, insecticides, Fuels, Gases, Fertilisers

62) Classification of animals and examples

63) Anatomy and Physiology wrt animal body

64) Useful and Harmful  animals -Animal Husbandry, Dairy, Poultry

65) Classification of plants and examples

66) Anatomy and Physiology wrt plants

67) Useful and Harmful plants - Horticulture and floriculture

68) Human body system - CNS, CVS, GIT,  Musculoskeletal, endocrine, Excretory

69) Health & Diseases - vectors, agents, diagnosis , treatmet & programs

70) Food and Nutrition -Macro, micro, minerals, vitamins

(6) Mmcy KS>m‘moS>r  (15)
* Mmcy KS>m‘moS>r - OmJ{VH$ VgoM ̂ maVmVrc

*  amOH$s¶ KQ>Zm
71) OmJ{VH$ g§KQ>Zm, Am§Vaamï´>r¶ g§~§Y, ‘mZdr h¸$ {df¶H$ KQ>Zm, g§ajU{df¶H$ KQ>Zm
72) amï´>r¶ amOH$s¶ KQ>Zm - {ZdS>UwH$m, àemgZ, Ý¶m¶mb¶rZ {ZH$mb, Am¶moJ, H$m¶Xo d KQ>ZmXþéñË¶m, Am§XmobZo

*  Am{W©H$ d {dÎmr¶ KQ>Zm
73) OmJ{VH$ ñVamdarb Am{W©H$ KS>m‘moS>r, {dXoer ì¶mnma, CÚmoJ wa nm¶m ŷV joÌmVrb KQ>Zm
74) AW©g§H$ën d gmd©O{ZH$ {dÎm, ~±qH$J d d {dÎm, H¥$fr d J«m‘rU {dH$mg, Xm[aX²Œ¶ d ~oH$mar

*  d¡km{ZH$ KQ>Zm
75) D$Om© V§ÌkmZ d AmpÊdH$ àH$ën,Amm¶grQ>r, AdH$me{dkmZ
76) d¡km{ZH$ g§ñWm d g§emoYH , O¡dV§ÌkmZ, amoJ{dkmZ $

*  gm‘m{OH$  d e¡j{UH$ KQ>Zm
77) gm‘m{OH$ gwajoMo CnH«$‘ d nwT>mH$ma, gd©g‘mdoeH$Vm
78) e¡j{UH$ d Amamo½¶ joÌmVrb KQ>Zm, amoOJma {Z{‘©Vr d H$m¡eë¶ {dH$mg

79) ^m¡Jmo{bH$ d n¶m©daU{df¶H$ KQ>Zm - àH$mePmoVmVrb ñWio, amOH$s¶ ŷJmob, n¶m©daU n[afXm, g§dY©Z, H$m¶Xo,
AmnÎmrì¶dñWmnZ

80) Zo‘UwH$m,  {Z¶wº$s  d àH$mePmoVmVrb ì¶º$s
81) nm[aVmo{fH$, nwañH$ma  d ~hþ‘mZ
82) H«$sS>m{df¶H$ KQ>Zm  - H«$sS>m ñnYm©, IoimSy>§Mr H$m‘{Jar, nwañH$ma d gÝ‘mZ, àH$mePmoVmVrb IoimSy> d à{ejH$
83) gm§ñH¥${VH$  d  n¶©Q>Z KQ>Zm  - g§JrV d Z¥Ë¶, {MÌnQ>, ¶mÌm, g§ñWm d ñ‘maHo$
84) gm{hpË¶H$  KQ>Zm -àH$mePmoVmVrb nwñVHo$ d boIH$, _amR>r gm{hË` g§_ocZ d BVa CnH«$‘
85) gm‘mÝ¶kmZ - ‘hÎdmMo {Xdg d df©, gd©àW‘, gdm©V ‘moR>o/N>moQ>o, Eo{Vhm{gH$ KQ>ZmH«$‘
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Current Affairs (15)
* Political events

71) World Organization, International Relations, Human Rights Events, Defense Events

72) National Political Events - Elections, Administration, Judicial Results, Commissions, Laws and

Amendments, Agitations

* Economic and financial events

73) Global economic developments, foreign trade, industry and infrastructure developments

74) Budget & Public Finance, Banking & Finance, Agriculture & Rural Development, Poverty &

Unemployment

* Current events wrt Science & Technology

75) Energy Technology and Nuclear Projects, ICT, Space Science

76) Scientific institutes and researchers, biotechnology, pathology

* Social and educational events

77) Social security initiatives and inclusiveness

78) Events in education and health sector, job creation and skill development

79) Geographical and Environmental Events - Lights, Political Geography, Environmental Councils,

Conservation, Laws, Disaster Management

80) Appointment, appointment and person in the spotlight

81) Prizes, awards and honors

82) Sports Events - Sports Competitions, Athletes Performance, Awards & Honors, Light Players &

Coaches

83) Cultural and Tourism Events - music and dance, movies, travel, institutions and monuments

84) Literary Events - Books and Writers in Prakashjota, Marathi Sahitya Sammelan and other activities

85) General Knowledge - Important days and years, first of all, the biggest / smallest, historical

events

(7) ~w{Õ‘mnZ MmMUr d A§H$J{UV
* ~w{Õ‘mnZ MmMUr - C‘oXdma {H$Vr bdH$a d AMyH$nUo {dMma H$é eH$Vmo ho AO‘mdÊ¶mgmR>r

A§H$J{UV - ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma,  Xem§e AnyUmªH$ d Q> o̧$dmar

~w{Õ‘mnZ MmMUr -
86) g§»¶m Am{U dU©‘m{bH$m
87) gm§Ho${VH$ ^mfm, gmå¶, VwbZm, dJuH$aU
88) ‘erZ BZnwQ  Am{U {MÝho, J{UVr` VH©$, n[aÀN>oXm§déZ {ZîH$f© H$mT>Uo
89) {dYmZo Am{U ẁ{º$dmX, {dYmZo Am{U J¥{hVHo$, {dYmZo Am{U {ZîH$f©
90) ~¡R>H$ d ‘m§S>Ur ì`dñWm
91) ZmVog§~§Y
92) AmH¥$Ë`m§darb àíZ, KZmdarb àíZ

A§H$J{UV -
93) g§»`màUmbr - bgm{d, ‘gm{d, dJ©‘yi Am{U KZ‘yi
94) ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma, Xem§e AnyUmªH$
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95) Q> o̧$dmar, ^mJrXmar, gamgar, g§̂ mì`Vm
96) JwUmoÎma Am{U à‘mU, {‘lU, gmIir {Z`‘
97) doi Am{U A§Va,aoëdo, ~moQ> Am{U Obàdmh, H$mi Am{U H$m‘
98) Z’$m Am{U VmoQ>m, {dH«$s Am{U IaoXr, gmYo Am{U MH«$dmT> ì`mO
99) ŷ{‘Vr - joÌ’$i, KZ’$i> Am{U n[a{‘Vr
100) KS>çmi, H°$b|S>a, d`, {Xem{ZX}e, doZ AmH¥$Ë`m§darb g‘ñ`m

Mental Ability test and Arithmetic (15)

General Mental Ability (7)
86) Sequence and series

87) Coding-decoding, Analogy, Comparisons, Classifications

88) Machine input & Symbols

89) Syllogism, Judgements, Drawing inference, Statements - Arguments and Conclusion

90) Sitting arrangement

91) Blood relations, Ranking Test, Comparison

92) Qs on figures

i. Construction of squares and triangles

ii. Series

iii. Completion of incomplete pattern

iv. Analogy, Group of Identical Figures

v. Classification, Odd figures or Odd man out

vi. Mirror-image, Water-image

vii. Paper folding, Paper cutting, Dot situation

viii. Spotting out the embedded figures

ix.Cubes and dice

x. Figure matrix

Arithmatics (8)
93) Number system - HCF and LCM, Square roots and cube roots, Surd and indices

94) Addition, Substarction, Multiplication, Division and Simplification, Decimal Fractions

95) Percentage, Partnership & investment, Average , Probability, Permutation Combination

96) Ratio and Proportion, Mixtures &Alligation, Chain Rule

97) Time and Distance, Trains, Boat and Stream, Time and Work, Pipe & Cistern

98) Profit and Losses,  Sale & purchase, Discount , Simple and Compound Interest

99) Mensuration & Geometry - Areas, Volume and Surface Areas

100) Problems on Clock, Calendars,  Ages,  Directions, Locations and Positions, Venn diagrams



For Private Circulation Only

JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : ŷJmob / 12

(2) ŷJmoc (‘hmamḯ>mÀ¶m ŷJmocmÀ¶m {deof Aä¶mgmgh) (15)
* n¥Ïdr, OJmVrc {d^mJ, hdm‘mZ, Ajm§e-aoIm§e,  ‘hmamï´>mVrc O{‘ZrMo àH$ma, nO©Ý¶‘mZ, à‘wI {nHo$, ehao, ZÚm,

CÚmoJY§Xo BË¶mXr.

1) n¥Ïdr - gỳ ©‘mbm, n[adbZ d n[a «̂‘U
2) Ajm§e Am{U aoIm§e - à‘mU Am{U ñWm{ZH$ doi
3) n¥ÏdrMo A§Va§J - ŷH§$n Am{U Ádmbm‘wIr, IS>H$, ^m¡Jmo{bH$ d¡{eï²> ò, ŷéno
4) OmJ{VH$ {d^mJ - nd©V,  dmao Am{U ‘hmgmJa àdmh, dmXio
5) hdm‘mZ - dmVmdaU, ½bmo~b dm°{‘ªJ
6) nO©Ý¶‘mZ - ‘hmnya, XþîH$mi, qgMZ ì¶dñWm
7) ZÚm - YaUo Am{U àH$ën
8) ^m¡{VH$ ŷJmob - nd©V, nR>ma, dmid§Q>, {H$ZmanÅ>r, ~oQ>o
9) dZo Am{U dZñnVr, n[apñW{VH$s, n`m©daU
10) ‘hmamḯ>mVrb O{‘ZrMo àH$ma
11) à‘wI {nHo$ - eoVr
12) ehao  Am{U ZmJarH$aU
13) Am{W©H$ ̂ yJmob - I{ZOo Am{U D$Om© g§gmYZo, dmhVyH$ Am{U n ©̀Q>Z
14) CÚmoJ
15) amOH$s` ̂ yJmob - bmoH$g§»`m, ̂ mfm, O‘mVr Am{U d§e, ñWmZo Am{U gr‘m

1) n¥Ïdr - gỳ ©‘mbm,  n[adbZ d n[a «̂‘U
1) M§Ðmbm ñdV…^modVr {’$aÊ¶mg {H$Vr H$mbmdYr bmJVmo ?

1) 25 {Xdg 5 Vmg 2) 27 {Xdg 7 Vmg 3) 30 {Xdg 3 Vmg 4) 35 {Xdg 2 Vmg
1) What is the time required by the moon to revolve around itself ?

1) 25 days 5 hours 2) 27 days 7 hours 3) 30 days 3 hours 4) 35 days 2 hours

2) Imbrbn¡H$s H$moUVo KQ>H$ gm¡a D$O}À¶m {dVaUmda n[aUm‘ H$aVmV?
a) gy¶© {H$aUm§Mm ŷn¥ð>mer hmoUmam H$moZ b) AmH$memVrb M§ÐmMr CnpñWVr
c) gy¶©S>mJ d) {XdgmMm H$mbmdYr (bm§~r)
n¶m©¶r CÎmao …
1) (a), (b) Am{U (c) 2) (b), (c) Am{U (d) 3) (a), (c) Am{U (d) 4) darb gd©

2) Which of the following factors affects the distribution of insolation ?

a) Angle of sun rays to the surface of the earth b) Presence of moon in the sky

c) Sunspots d) Length of the day

Answer Option :

1) (a), (b) and (c) 2) (b), (c) and (d) 3) (a), (c) and (d) 4) All of the above
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3) H$m°[aAmo{cg ~bm g§~§{YV Imbrbn¡H$s H$moUVo/Vr {dYmZ/Zo MwH$sMo/Mr Amho/AmhoV?
a) Vmo Y«wdm§da A{YH$V‘ AgVmo.
b) Vmo {dfwdd¥ÎmmH$S>o H$‘Hw$dV hmoV OmVmo.
c) CÎma JmobmYm©V Vmo dmè¶mbm COdrH$S>o Am{U X{jU JmobmYm©V dmè¶mbm S>mdrH$S>o {djo{nV H$aVmo.
d) Ë¶mMm WoQ> n[aUm‘ dmè¶mÀ¶m doJmda hmoVmo.
n¶m©¶r CÎmao …
1) {dYmZ (a) Am{U (b) 2) ’$º$ {dYmZ (d) 3) {dYmZ (b) Am{U (d) 4) {dYmZ (a) Am{U (d)

3) Which statement/s regarding coriolis force is/are incorrect ?

a) It is maximum at poles.

b) It weakens towards equator,

c) It deflects winds to the right in north hemisphere and to left in south hemisphere.

a) It directly affects the wind speed.

Answer Option :

1) Statement (a) and (b) 2) Only statement (d)

3) Statement (b) and (d) 4) Statement (a) and (d)

2) Ajm§e Am{U aoIm§e - à‘mU Am{U ñWm{ZH$ doi

3) n¥ÏdrMo A§Va§J - ŷH§$n Am{U Ádmbm‘wIr, IS>H$, ŷéno, ^m¡Jmo{bH$ d¡{eï²>̀ o
1) ^maV gaH$maÀ¶m ‘Vo Owb¡ 2021 n¶ªVMm XoemVrb ŷH§$nm§Mm B{Vhmg bjmV KoVm ^maVmÀ¶m EHy$U gd©gmYmaU .......

ŷ-^mJmbm (Á¶m‘Ü¶o ^maVmVrb gd© KQ>H$ amÁ¶o Am{U H|$Ðem{gV àXoem§Mm g‘mdoe hmoVmo) doJdoJù¶m Vrd«VoÀ¶m
ŷH§$nm§Mm YmoH$m Amho.

1) 65% 2) 59% 3) 40% 4) 30%
1) According to government of India considering the recorded history of earthquakes in the country

upto July 2021, a total of approximately ................ of the landmass of India (covering all states

and union territories of India) is prone to earthquakes of different intensities.

1) 65% 2) 59% 3) 40% 4) 30%

2) ŷH$dMmÀ¶m {g¶mb Wam‘Ü¶o H$moUVr I{ZOo àm‘w»¶mZo AmT>iVmV?
1) {g{bH$m Am{U ‘°¾o{e¶‘ 2) {g{bH$m Am{U bmoh
3) {g{bH$m Am{U A°ë¶w{‘{Z¶‘ 4) {g{bH$m Am{U OñV

2) Which minerals are mainly found in the Sial layer of the earth's crust ?

1) Silica and Magnesium 2) Silica and Iron

3) Silica and Aluminium 4) Silica and Zinc

3) Imbrb {dYmZ nhm.
a) J«°ZmB©Q> hm AmåbY‘u¶ IS>H$ Amho.
b) ~ogm°ëQ> hm AëH$Y‘u¶ IS>H$ Amho.
c) AmåbY‘u¶ A{¾OÝ¶ IS>H$mV {g{bH$mMo à‘mU 20% AgVo.
n¶m©¶r CÎmao …
1) ’$º$ {d^mJ (a) ~amo~a Amho. 2) ’$º$ {d^mJ (c) ~amo~a Amho.
3) {dYmZo (a) Am{U (b) ~amo~a AmhoV. 4) {dYmZo (a), (b) Am{U (c) ~amo~a AmhoV.
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3) Observe the following statements :

a) Granite is Acidic Rock.

b) Besalt is Basic Rock.

c) In Acidic Ignous rock Silica content is 20%.

Answer Options :

1) only statement (a) is correct 2) only statement (c) is correct

3) Statements (a) and (b) are correct 4) Statements (a), (b) and (c) are correct

4) ŷn¥ð>mnmgyZ A{VImobrda {dñVrU© AmH$mamMo IS>H$ {Z‘m©U hmoVmV Ë¶m§Zm ...... IS>H$ åhUVmV.
1) c°H$mo{cW 2) ~°Wmo{bW 3) S>mB©H$ 4) grb

4) The wider rocks are formed at great depth from the surface are called ...... rocks.

1) Laccoliths 2) Batholiths 3) Dikes 4) Sills

5) OmoS>çm bmdm.
   ŷê$n H$maH$
a) Y~Y~m i) {h‘ZXr
b) Á¶yOoZ ii) gmJar bmQ>m
c) nwiU iii) dmam
d) bm|~Vr Xar iv) ZXr
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iv) (ii) (iii) (i)

2) (iv) (iii) (ii) (i)

3) (iv) (ii) (i) (iii)

4) (ii) (i) (iii) (iv)

5) Match the following.

Land forms Agent

a) Waterfall i) Glacier

b) Zeugen ii) Sea waves

c) Beaches iii) Wind

d) Hanging valley iv) River

Answer Options :

(a) (b) (c) (d)

1) (iv) (ii) (iii) (i)

2) (iv) (iii) (ii) (i)

3) (iv) (ii) (i) (iii)

4) (ii) (i) (iii) (iv)

6) Imbrbn¡H$s ¶mo½¶ CÎma {ZdS>m.
a) S>ãë¶y. E‘. S>opìhg ¶m§Zr ZXrÀ¶m IZZMH«$mMr g§H$ënZm ‘m§S>br.
b) S>ãë¶y. E‘. S>opìhg hm O‘©Z emók hmoVm.
c) ZXrÀ¶m IZZMH«$mMr g§H$ënZm ^m¡Jmo{bH$ IZZMH«$mMr g§H$ënZm åhUyZhr AmoiIbr OmVo.
n¶m©¶r CÎmao …
1) ’$º$ (a) ~amo~a Amho. 2) ’$º$ (b) ~amo~a Amho.
3) (a), (c) ~amo~a AmhoV. 4) (a), (b), (c) ~amo~a AmhoV.
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6) Choose the appropriate answer from the following.

a) The concept of cycle of river erosion was introduced by W.M. Devis.

b) W. M. Devis was a German scientist.

c) The concept of cycle of river erosion is also known as the concept of Geographical Cycle of

Erosion.

Answer Options :

1) only (a) is correct 2) only (b) is correct.

3) (a), (c) are correct 4) (a), (b), (c) are correct.

7) ŷCR>mdmVrb AnjaU, {ZjonU d Ad{eï> ¶m à{H«$¶m H$moUË¶m loUrV AmT>iVmV ?
A) MVwW© loUrV ~) V¥Vr¶ loUrV H$) {ÛVr¶ loUrV S>) àW‘ loUrV
darbn¡H$s H$moUVo CÎma ~amo~a Amho ?
1) A d ~ ’$º$ 2) ~ ’$º$ 3) H$ ’$º$ 4) S> ’$º$

7) In which grade the processes of Landform like erosion, deposition and residual are found ?

a) Fourth grade b) Third grade c) Second grade d) First grade

Which is correct answer ?

1) a and b only 2) b only 3) c only 4) d only

8) Imbrbn¡H$s H$moUVo ŷê$n {h‘ZXrÀ¶m g§M¶Z H$m¶m©‘wio V¶ma hmoVo ?
1) gH©$ 2) amoeo ‘mCQ>moZr 3) {’$¶mS>© 4) S´>‘{bZ

8) Which of the following land feature is created due to the depositional work of Glacier ?

1) Cirque 2) Roche Moutonnee 3) Fiord 4) Drumlin

4) OmJ{VH$ {d^mJ - nd©V, dmao Am{U ‘hmgmJa àdmh, dmXio
1) ¶wamon‘Yrb Amëßg nd©V ^mJmVyZ dmhUmè¶m dmè¶m§Zm ...... Ago åhUVmV.

1) ’$m°Z dmao 2) {MZyH$ dmao 3) {gamo̧ $mo 4) Im‘grZ
1) The winds blowing from the Alps mountain region in Europe are called ......

1) Foehn wind 2) Chinook wind 3) Sirocco 4) Khamsin

2) Imbr {Xboë¶m ^maVr¶ CnI§S>mVrb dmXim§À¶m CËnÎmr dfm©Zwgma ¶mo½¶ OmoS>çm Owidm.
ñV§̂ -I (dmXio) ñV§̂ -II (df©)
a) hþS>hþS> i) 2021

b) {Zb‘ ii) 2014

c) Vm¡ºo$ iii) 2019

d) ’$Zr iv) 2012

n¶m©¶r CÎmao …
(a) (b) (c) (d)

1) (i) (ii) (iv) (iii)

2) (iii) (iv) (ii) (i)

3) (ii) (i) (iv) (iii)

4) (ii) (iv) (i) (iii)
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2) Match the following Indian sub-continental stroms according to their year of origin.

Column-I (Stroms) Column-II (Years)

a) Hudhud i) 2021

b) Nilam ii) 2014

c) Tauktae iii) 2019

d) Fani iv) 2012

Answer Options :

(a) (b) (c) (d)

1) (i) (ii) (iv) (iii)

2) (iii) (iv) (ii) (i)

3) (ii) (i) (iv) (iii)

4) (ii) (iv) (i) (iii)

3) Imbrbn¡H$s H$moUVo {dYmZ MyH$ Amho?
a) {H$Zmè¶mbJV g‘wÐVi CWi Agë¶mg bmQ>m§Mm doJ ‘§XmdVmo.
b) {H$Zmè¶mbJV g‘wÐVi Imob Agë¶mg bmQ>m§Mm doJ ‘§XmdVmo.
c) {H$Zmè¶mbJV g‘wÐVi CWi Agë¶mg bmQ>m§Mm doJ dmT>Vmo.
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b) 3) (b) Am{U (c) 4) (a) Am{U (c)

3) Which of the following statement is wrong ?

a) Waves slow down if the seabed is shallow along the coast.

b) Waves slow down if the seabed is deep along the coast.

c) If seabed is shallow along the coast, the speed of the waves increases.

Answer Options :

1) only (a) 2) only (b) 3) (b) and (c) 4) (a) and (c)

4) ^aVr-AmohmoQ>r‘wio hmoUmao nmÊ`mÀ`m nmVirVrb MT>-CVma, VgoM H$Mam H$mTy>Z Q>mH$Ê`mg Am{U AÞ Am{U nmofH$
KQ>H$m§Mr dmhVyH$ H$aÊ`mg hmoUmar ‘XV ¶m‘wio ............... hr Obg§ñWm AË §̀V CËnmXH$ AgVo.
1) ZXr 2) ImS>çm/‘wIàXoe 3) g‘wÐ 4) H$mbdm

4) The water body is highly productive due to higher fluctuation of water level, tides serving to

remove wastes and to transport food and nutrients.

1) River 2) Estuaries 3) Sea 4) Canal

5) OJmV gdm©V Imob JmoS>çm nmÊ`mMo gamoda H$moUVo Amho?
1) gamoda gw{n[a`a 2) H°$pßg`Z g‘wÐ 3) J«oQ> boH$ 4) ~¡H$b gamoda

5) Which is the deepest freshwater lake in the world ?

1) Lake superior 2) Capsian sea 3) Great lake 4) Lake Baikal

6) Aë ẁQ>oZ ............. ‘hmgmJamV pñWV AmhoV.
1) AQ>bm§{Q>H$ 2) n°{g{’$H$ 3) ^maVr` 4) darb gd©

6) The Aleutains are located in the ............... ocean.

1) Atlantic 2) Pacific 3) Indian 4) All the above
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7) ICZM Mm AW© Amho -
1) Am§Vaamï´>r` {H$Zmar joÌ ì`dñWmnZ 2) Am§Va^aVr {H$ZmanÅ>r joÌ ì`dñWmnZ
3) EH$mpË‘H$ H$moñQ> PmoZ ‘°ZoO‘|Q> 4) EH$mpË‘H$ H$moñQ>b PmoZ ‘°ZoO‘|Q>

7) ICZM stands for -

1) International Coastal Zone Management 2) Intertidal Coast Zone Management

3) Integrated Coast Zone Management 4) Integrated Coastal Zone Management

8) 1000 Vo 4000 ‘rQ>a Imobrn ª̀V ngabobm gmJar àm§V ............. åhUyZ AmoiIbm OmVmo.
1) A°{~gmonobo{OH$ 2) ~m{Wnobo{OH$ 3) ‘ogmonobo{OH$ 4) `mn¡H$s Zmhr

8) The oceanic province extending from 1000 to 4000 meter depth is know as........

1) Abyssopelagic 2) Bathypelagic 3) Mesopelagic 4) None of these

9) ............. {dkmZ ho ^m¡{VH$ g‘wÐemómMm ^mJ ‘mZbo OmD$ eH$Vo.
1) Am°pßQ>Šg 2) ~°pñQ>H 3) gmJar n`m©daU 4) gmJar Ordemó

9) ............. can be considered under physical oceanography.

1) Optics 2) Bastic 3) Marine Ecology 4) Marine Biology

5) hdm‘mZ - dmVmdaU, ½bmo~b dm°{‘ªJ
1) g‘wÐgnmQ>rda gd©gmYmaU hdoMm Xm~ {H$Vr AmT>iVmo?

1) 1013.2 {‘.~m. 2) 1103.2 {‘.~m. 3) 1213.2 {‘.~m. 4) 760 {‘.~m.
1) Generally what is air pressure at mean sea level ?

1) 1013.2 mb 2) 1103.2 mb 3) 1213.2 mb 4) 760 mb

2) dmVmdaUmVrb KQ>H$m§Mm à‘mUmZwgma {dMma H$aVm CVaË¶m H«$‘mZwgma H$moUË¶m dm¶yMm JQ> AMyH$ Amho?
1) Am°p³gOZ, Zm¶Q´>moOZ, Am°aJm°Z, AmoPmoZ 2) Am°p³gOZ, Zm¶Q´>moOZ, AmoPmoZ, Am°aJm°Z
3) Zm¶Q´>moOZ, Am°p³gOZ, AmoPmoZ, Am°aJm°Z 4) Zm¶Q´>moOZ, Am°p³gOZ, Am°aJm°Z, AmoPmoZ

2) Which group of gases is correct in descending order considering the proportion of atmosphere

elements ?

1) Oxygen, Nitrogen, Argon, Ozone 2) Oxygen, Nitrogen, Ozone, Argon

3) Nitrogen, Oxygen, Ozone, Argon 4) Nitrogen, Oxygen, Argon, Ozone

3) Imbrb {dYmZo nhm …
a) dmVmdaUmÀ¶m gdm©V ImbÀ¶m Wambm Vnm§~a åhUVmV.
b) gd© hdm/hdm‘mZmVrb KQ>Zm (CXm. T>J, YwHo$, d¥ï>r, dmXi B.) ¶m WamV AmT>iVmV.
n¶m©¶r CÎmao …
1) Ho$di (a) ~amo~a Amho. 2) Ho$di (b) ~amo~a Amho. 3) XmoÝhr ~amo~a AmhoV 4) XmoÝhr ~amo~a ZmhrV

3) Observe the following statements :

a) The lowermost layer of the atmosphere is known as troposphere.

b) All weather phenomena (eg : cloud, fog, precipitation, storm etc.) occur in this layer.

Answer Option :

1) Only (a) is correct 2) Only (b) is correct 3) Both are correct 4) Both are not correct
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4) Imbrbn¡H$s H$moUVm dmVmdaUr¶ ñVam§Mm ¶mo½¶ H«$‘ Amho ?
1) Vnm§~a, ‘Ü¶mdaU, pñWVm§~a Am{U Vmn‘§S>i 2) Vnm§~a, pñWVm§~a, Vmn‘§S>i Am{U ‘Ü¶mdaU
3) Vnm§~a, pñWVm§~a, ‘Ü¶mdaU Am{U Vmn‘§S>i 4) Vnm§~a, Vmn‘§S>i, ‘Ü¶mdaU Am{U pñWVm§~a

4) Which one of the following is the correct sequence of atmospheric layers ?

1) Troposphere, Mesosphere, Stratosphere and Thermosphere

2) Troposphere, Stratosphere, Thermosphere and Mesosphere

3) Troposphere, Stratosphere, Mesosphere and Thermosphere

4) Troposphere, Thermosphere, Mesosphere and Stratosphere

5) Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
a) dmXir T>J ‘Ü¶m§~am‘Ü¶o AmT>iVmV.
b) ‘Ü¶ñVãYrÀ¶m da Vnm§~a ñVa Amho.
c) dmVmdaUmV pñWVm§~a 100 {H$.‘r. C§MrÀ¶m da AmT>iVmo.
d) Am¶Zm§~a hm VnñVãYr Am{U pñWañVãYr ¶m ñVamXaå¶mZ pñWV Amho.
n¶m©¶r CÎmao …
1) (a) Am{U (b) 2) (b) Am{U (c) 3) (c) Am{U (d) 4) darbn¡H$s H$moUVohr Zmhr

5) Which of the following statements are correct ?

a) Storm clouds are found in mesosphere

b) Troposphere is located above the mesopause

c) Stratosphere found above 100 km altitude in atmosphere

d) Ionosphere is located between tropopause and stratopause

Answer Option :

1) (a) and (b) 2) (b) and (c) 3) (c) and (d) 4) None of the above

6) Imbrbn¡H$s H$moUVo {dYmZ/Zo Vmn‘mZ ì¶ñVZ KQ>Zoer g§~§{YV Amho/AmhoV?
a) H$maImÝ¶mVyZ Yya gmoS>Umè¶m eham§‘Ü¶o gH$mir {deofV… {hdmù¶mV àXÿfH$ AmYm[aV YwHo$ gm‘mÝ¶nUo dmVmdaUmÀ¶m

ImbÀ¶m ñVamV AmT>iyZ ¶oVo.
b) df©̂ a Y«wdr¶ àXoemV Vmn‘mZ ì¶ñVZ ho gm‘mÝ¶ d¡{eîQ>ç Amho.
c) ŷn¥ð>mnmgyZ Oer C§Mr dmT>V OmVo Vgo dmVmdaUmÀ¶m ImbÀ¶m ñVamV Vmn‘mZ d¥Õr hmoVmZm {XgyZ ¶oVo.
d) pñdËPbªS>, ’«$mÝg, H°${c’$mo{Z©̀ m (U.S.A.) ¶oWo ’$i~mJm, Xè¶m§À¶m Vi^mJmEodOr S>m|Ja CVmam§da AmT>iyZ ¶oVmV.
n¶m©¶r CÎmao …
1) Ho$di {dYmZ (a) Am{U (b) 2) Ho$di {dYmZ (c) Am{U (d)

3) Ho$di {dYmZ (d) 4) {dYmZo (a) (b) (c) Am{U (d)

6) Which of the following statement/s are associated with the phenomenon of temperature inversion?

a) In morning especially during winters, in lower strata of atmosphere, pollution-base fogs are of

common occurences in smoke releasing factory cities.

b) Over polar regions the temperature inversion is a common feature all the year around.

c) The temperature is found to increase with elevation in the lower strata of atmosphere.

d) The orchards in Switzerland, France, California (U.S.A) are found on the slope of hills rather

than on valley floors.

Answer Option :

1) Only statement (a) and (b) 2) Only statement (c) and (d)

3) Only statement (d) 4) Statements (a) (b) (c) and (d)
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7) Imbrbn¡H$s H$moUVo d{Y©V / dmT>rd h[aVJ¥h n[aUm‘ AmhoV?
a) OmJ{VH$ Vmn‘mZ dmT> b) g‘wÐmÀ¶m nmVirV dmT>
c) ‘mZdr Amamo½¶mda n[aUm‘ d) eoVrda n[aUm‘
n¶m©¶r CÎmao …
1) (a) Am{U (b) 2) (c) Am{U (d) 3) (b) Am{U (c) 4) darbn¡H$s gd©

7) Which of the followings are the impacts of enhanced greenhouse effect ?

a) Global temperature increase b) Rise in sea level.

c) Effects on human health d) Effects on Agriculture.

Answer Options :

1) (a) and (b) 2) (c) and (d) 3) (b) and (c) 4) All of the above

8) n¶m©daU A{YdoeZ/n[afX Am{U df© ¶m§À¶m OmoS>çm bmdm.
n¶m©daU A{YdoeZ/n[afX     df©
a) am‘ga i) 1979

b) pìhEÞm i) 1971

c) {‘{Z‘mQ>m iii) 1985

d) ~m°Z iv) 2013

n¶m©¶r CÎmao …
(a) (b) (c) (d)

1) (ii) (iii) (iv) (i)

2) (iii) (ii) (i) (iv)

3) (i) (ii) (iii) (iv)

4) (iv) (i) (ii) (iii)

8) Match the environment conventions and year.

Environment conventions   Year

a) Ramsar i) 1979

b) Vienna i) 1971

c) Minimata iii) 1985

d) Bonn iv) 2013

Answer Option :

(a) (b) (c) (d)

1) (ii) (iii) (iv) (i)

2) (iii) (ii) (i) (iv)

3) (i) (ii) (iii) (iv)

4) (iv) (i) (ii) (iii)

9) Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
a) ³¶moQ>mo g§{hVm EH$ Am§Vaamï´>r¶ H$ama Amho, Á¶mMm CÔoe H$m~©Z S>m`-Am°³gmB©S> Am{U BVa h[aV dm¶y CËgO©Z H$‘r

H$aUo Amho.
b) ^maV ³¶moQ>mo g§{hVobm dMZ~Õ Zmhr.
c) OmJ{VH$ Vmn‘mZ dmT> {Z¶§{ÌV H$aUo ho ³¶moQ>mo g§{hVoMo bj Amho.
n¶m©¶r CÎmao …
1) (a) Am{U (b) ’$º$ 2) (b) Am{U (c) ’$º$ 3) (a) Am{U (c) ’$º$ 4) darb gd©
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9) Which of the following statements are true ?

a) The Kyoto Protocol is an international agreement that aimed to reduce carbon dioxide and

other green house gases emission.

b) India is not committed to Kyoto Protocol.

c) Kyoto Protocol aims to control global warming.

Answer Option :

1) (a) and (b) only 2) (b) and (c) only 3) (a) and (c) only 4) All of the above

10) Imbrb {dYmZo nhm.
a) ‘hmamï´> àXÿfU {Z¶§ÌU ‘§S>imMr ñWmnZm 7 gßQ>|~a 1970 amoOr Pmbr.
b) ‘mPr dgw§Yam A{^¶mZ ‘hmamï´> àXÿfU {Z¶§ÌU ‘§S>imÛmao Mmbdbo OmVo.
n¶m©¶r CÎmao …
1) {dYmZ (a) ~amo~a Amho 2) {dYmZ (b) ~amo~a Amho
3) {dYmZ (a) Am{U (b) ~amo~a AmhoV 4) {dYmZ (a) Am{U (b) ~amo~a ZmhrV

10) Observe the following statements :

a) Maharashtra Pollution Control Board was established on 7th September, 1970.

b) Majhi Vasundhara Abhiyan is run by Maharashtra Pollution Control Board.

Answer Option :

1) Statement (a) is correct 2) Statement (b) is correct

3) Statement (a) and (b) are correct 4) Statement (a) and (b) are not correct

6) nO©Ý¶‘mZ - ‘hmnya, XþîH$mi, qgMZ ì¶dñWm
1) "ãbm°g‘ em°da', CîU hdm‘mZmVrb ñWm{ZH$ dmXim§n¡H$s EH$ dmXi Imbrbn¡H$s H$emer g§~§{YV Amho?

1) Am§~m 2) H$m°’$s 3) Vm§Xyi 4) VmJ
1) ‘Blossom Shower’, one of the local storms of hot weather season is related to which of the

following?

1) Mangoes 2) Coffee 3) Rice 4) Jute

2) nmUbmoQ> {dH$mg H$m¶©H«$‘mMo ‘w»¶ KQ>H$ åhUOo -
a) ‘mVr d nmUr g§dY©Z b) nmUr g§H$bZ (Ob nwZ ©̂aU)
c) nrH$ ì¶dñWmnZ d) n¶m©¶r O‘rZ dmna nÕVr
n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (b) 2) ’$º$ (a) Am{U (c) 3) ’$º$ (c) Am{U (d) 4) ¶mn¡H$s gd©

2) The main components of watershed development programme are :

a) Soil and water conservation b) Water harvesting

c) Crop management d) Alternate land use systems

Answer Options :

1) only (a) and (b) 2) only (a) and (c) 3) only (c) and (d) 4) All of these
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3) Imbrbn¡H$s H$moUVo KQ>H$ nmUbmoQ> joÌmVyZ eoVVù¶mV nmUr dmhÿZ OmÊ¶mg H$maUr ŷV AmhoV?
a) nmD$g b) O{‘ZrMr ñWbmH¥$Vr (C§MgIbnUm)
c) ‘¥Xm d) O{‘ZrMm dmna
n¶m©¶r CÎmao …
1) (a) Am{U (c) ’$º$ 2) (b) Am{U (d) ’$º$ 3) (a) Am{U (b) ’$º$ 4) darb gd©

3) Which of the following factors are responsible for run off of water from catchment area to form

pond ?

a) Rainfall b) Soil Topography c) Soil d) Land use

Answer Options :

1) (a) and (c) only 2) (b) and (d) only 3) (a) and (b) only 4) All of the above

4) ObnwZ ©̂aU, nmUbmoQ> joÌ ì¶dñWmnZ, hdm‘mZmg AZwgê$Z gw¶mo½¶ eoVr ì¶dñWmnZ Am{U n[ag§ñWm {Z¶moOZ
¶mgmaIo H$m¶©H«$‘ am~{dë¶mg ...... ‘wio hmoUmao {dnarV n[aUm‘ H$‘r H$aVm ¶oVrb.
1) OmJ{VH$ Vmn‘mZdmT> 2) XþîH$mi 3) hdm‘mZ ~Xb 4) H$‘r nO©Ý¶‘mZ

4) The adverse impact of ...... can be reduced by implementing programmes like water harvesting,

watershed management, climate smart agriculture and ecosystems management.

1) global warming 2) famine 3) climate change 4) less rainfall

5) qgMZ nmÊ¶m‘Yrb ...... ¶m§À¶m amgm¶{ZH$ KQ>H$m‘wio Am{U Ë¶m§À¶m EHy$U à‘mUm‘wio O{‘ZrV ~Xb hmoVmV.
1) I{ZOo 2) jma 3) YZ^m[aV H$U 4) F$U^m[aV

5) ...... in irrigation water bring about changes in soil properties by their chem and total concentration.

1) Minerals 2) Salts 3) Cations 4) Anions

6) qgMZ H$m¶©j‘Voda H$moUVo KQ>H$ n[aUm‘ H$aVmV?
a) O‘rZ/‘¥Xm nmoV b) O{‘ZrMm n¥ð>^mJ c) qgMZ àdmhm§Mr j‘Vm d) qgMZ àdmhm§Mr bm§~r
n¶m©¶r CÎmao …
1) (a) Am{U (d) 2) (b) Am{U (c) 3) (a) Am{U (c) 4) darb gd©

6) Which factors influence irrigation efficiencies ?

a) Soil texture b) Land surface

c) Capacity of irrigation streams d) Length of irrigation streams

Answer Options :

1) (a) and (d) 2) (b) and (c) 3) (a) and (c) 4) All of the above

7) Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho?
a) qgMZmgmR>r ZJanm{bH$m gm§S>nmÊ¶mMm dmna Ho$ë¶mZo O{‘ZrV CnbãY qPH$ Am{U Vm§~o O‘m hmoÊ¶mV bjUr¶ dmT>

hmoVo.
b) qgMZmgmR>r ZJanm{bH$m gm§S>nmÊ¶mMm dmna Ho$ë¶mZo O{‘ZrV H°$S>{‘¶‘ (Cd) O‘m hmoÊ¶mV bjUr¶ dmT> hmoVo.
n¶m©¶r CÎmao …
1) (a) {dYmZ ~amo~a Amho. 2) (b) {dYmZ ~amo~a Amho.
3) XmoÝhr (a) Am{U (b) {dYmZo ~amo~a AmhoV. 4) darbn¡H$s EH$hr {dYmZ ~amo~a Zmhr
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7) Which of the following statements is correct ?

a) Use of municipal waste water for irrigation leads to substantial increase in accumulation of

Zinc (Zn) and Copper (Cu) in soils

b) Use of municipal waste water for irrigation leads to substantial increase in accumulation of

Cadmium (Cd) in soils.

Answer Options :

1) (a) statement is correct 2) (b) statement is correct

3) Both (a) and (b) statements are correct 4) Neither of the above statement is correct

8) H$‘r Am¶ S>ãë ỳ/gr nr B© (IW/CPE) (JwUmoÎma Xe©{dVo H$s, ...... A§VamZo nmUr Úmdo.
1) XrK© 2) H$‘r 3) g‘ 4) darbn¡H$s Zmhr

8) Smaller IW/CPE ratio indicates irrigation at ...... intervals.

1) longer 2) smaller 3) equal 4) None of the above

7) ZÚm - YaUo Am{U àH$ën
1) ‘hmamï´>mVrb X»IZÀ¶m nR>mamdarb ZÚm§Mr Zmdo gm§Jm.

A) J§Jm ~) ¶‘wZm H$) JmoXmdar S>) ‘hmZXr
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ H$ 3) ’$º$ ~ Am{U S> 4) ’$º$ A Am{U ~

1) State the names of river on the Plateau of Deccan in Maharashtra.

a) Ganga b) Yamuna c) Godavari d) Mahanadi

Answer Options :

1) Only a 2) Only c 3) Only b and d 4) Only a and b

2) dYm© ZXr d d¡ZJ§Jm ZXr ¶m§Mm g§J‘ Pmë¶mZ§Va Ë¶m ZXrg H$moUË¶m ZmdmZo AmoiIbo OmVo?
1) dYm© 2) d¡ZJ§Jm 3) àmU{hVm 4) M§Ð^mJm

2) What is the name of river after confluence of Wardha river and Vainganga river ?

1) Wardha 2) Vainganga 3) Pranhita 4) Chandrabhaga

3) OmoS>çm bmdm
                    ñWmZ/pñWVr     dñVr àmê$n
a) XmoZ ZÚm§À¶m g§J‘mda {dH${gV dñË¶m i) aofmH¥$Vr
b) ZXrÀ¶m gnm©H$ma diUmda {dH${gV dñË¶m ii) {ÌH$moUmH¥$Vr
c) ZXrÀ¶m Vramda {dH${gV dñË¶m iii) AY©dVw©imH$ma
d) gamodamÀ¶m bJV {dH${gV dñË¶m iv) dVw©imH$ma
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (ii) (iii) (i) (iv)

3) (ii) (i) (iii) (iv)

4) (iv) (i) (iii) (ii)
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3) Match the following.

                                    Situation Settlement Pattern

a) Settlements developed at confluence of two rivers i) Linear

b) Settlements developed along meanders ii) Triangular

c) Settlements developed along river banks iii) Semi-circular

d) Settlements developed around the lake iv) Circular

Answer Options :

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (ii) (iii) (i) (iv)

3) (ii) (i) (iii) (iv)

4) (iv) (i) (iii) (ii)

4) ‘hmamï´>mVrb ZÚm§Zr V¶ma Ho$bobr ObàUmbr gyMr- I ‘Ü¶o d gyMr -II ‘Ü¶o àmH¥${VH$ d àemgH$s¶ {d^mJ {Xbo Amho.
Ë¶m ‘m{hVrMo AmYmao ¶mo½¶ n¶m©¶r CÎma {ZdS>m.

   gyMr-I              gyMr-II

A) g‘m§Va ObàUmbr 1) gmVmam {OëømV ‘hm~ioída
~) H|$ÐË¶mJr ObàUmbr 2) §̂S>mam d Jm|{X¶m {Oëhm
H$)A{ZpíMV ObàUmbr 3) ‘hmamï´>mMm nR>mar ^mJ
S>) d¥jmH$ma ObàUmbr 4) gmV‘mim - AqOR>m, h[aíM§Ð-~mbmKmQ>
n¶m©¶r CÎmao …

(A) (~) (H$) (S>)
1) 4 1 2 3
2) 3 4 1 2$
3) 1 2 3 4
4) 2 3 4 1

4) The water system formed by the rivers of Maharashtra is given in List-I and natural and

administrative divisions are given in List-II.

 Choose the correct alternative answer based on that information.

        List-B                        List-B

a) Parallel river  system 1) Mahabaleshwar in Satara district

b) Centrifugal river system 2) Bhandara and Gondia district

c) Irregular river  system 3) Plateau area of Maharashtra

d) Dendritic  river  system 4) Satmala - Ajantha, Harishchandra-Balaghat

Answer Options :

(a) (b) (c) (d)

1) 4 1 2 3

2) 3 4 1 2

3) 1 2 3 4

4) 2 3 4 1

5) Imbrbn¡H$s H$moUVm Ja‘ nmÊ¶mMm Pam OiJmd {Oëøm‘Ü¶o pñWV Zmhr?
1) gmd 2) AS>mdX 3) CZnXod 4) Mm§JXod

5) Which of the following Hot Water Spring is not located in the Jalgaon district ?

1) Saav 2) Adavad 3) Unapdev 4) Changdev
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6) OmJ{VH$ ñVamda ......... I§S>mVyZ OmñVrV OmñV A§VX}er` ‘mgo nH$S>bo OmVmV.
a) ẁamon b) Am{e`m c) Am°ñQó{b`m d) Am{’«$H$m
{Xboë`m n`m©̀ m§n¡H$s H$moUVm n`m©̀  `mo½` Amho?
1) a 2) b 3) c 4) d

6) The maximum inland fish catches are reported from .......... continent on global level.

a) Europe b) Asia c) Australia d) Africa

Which of the given option is correct ?

1) a 2) b 3) c 4) d

7) Imbrbn¡H$s H$moUË¶m {R>H$mUr ‘Ëñ`nmbZ à{ejU H|$Ð Zmhr?
1) ‘mbdU 2) dgm}dm 3) Zm`Jmd 4) A{b~mJ

7) Which of the following is not a fisheries training center ?

1) Malvan 2) Versova 3) Naigaon 4) Alibag

8) H$moUË¶m àH$maMr ‘mgo‘mar hr bhmZ ñdénmMr, H$‘r IMm©Mr Am{U H$ï>mMr ‘mgo‘mar Amho, H$s Á`m‘Ü ò ñWm{ZH$
nmVirda ‘mgo {dH$bo OmVmV Am{U godZ Ho$bo OmVo?
1) {Zdm©h ‘Ëñ`nmbZ 2) H$mamJra ‘Ëñ`nmbZ
3) Am¡Úmo{JH$ ‘Ëñ`nmbZ 4) darbn¡H$s H$mhrhr Zmhr

8) .................. is small scale, low cost and labour intensive fishery in which the catch is sold and

consumed locally.

1) Subsistence fishery 2) Artisanal fishery

3) Industrial fishery 4) None of the above

9) Imè`m nmÊ`mVrb ‘Ëñ`nmbZ {dH$mg g§ñWoMr ñWmnZm, hr ‘hmamï´>mVrb Mma {H$Zmar {Oëøm§‘Ü ò, H$moUVo C{Ôï> gmÜ¶
H$aÊ`mgmR>r Ho$br Jobr ?
1) {H$ZmanÅ>r {dH$mgmgmR>r
2) {H$Zmar {OëømÀ`m gwYmaUogmR>r
3) hm~©g© g§gmYZo dmnaÊ`mgmR>r
4) Imè`m nmÊ`mMr H$moi§~r g§dY©ZmgmR>r OmñVrV OmñV Imè`m nmÊ`mMr O‘rZ dmnaUo

9) Brackish water fish farmer development agency in four coastal district in Maharashtra were

established in keeping objective (aim) as .........

1) For development of coast

2) For betterment of coastal district

3) To utilise resources a Harbours

4) To utilise maximum brackish water land for brackish water prawn culture

10) Imbrbn¡H$s H$moUË`m ~m~VrV VbmdmMr ^ma dhZj‘Vm (carrying capacity) gdm©V OmñV Agob?
a) dm ẁdrOZmgh nyU© Amhma b) g|{Ð` IVnmUr
c) nyaH$ Amhma d) ’$sS> qH$dm ’${Q©>bm`PoeZ Zmhr
n¶m©¶r CÎmao …
1) ’$º$ a 2) ’$º$ b 3) a Am{U c 4) a, b Am{U d
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10) In which of the following cases will the carrying capacity of a pond be the highest ?

a) Complete feeding with aeration b) Organic fertilization

c) Supplemental feeding d) No feed or fertilization

Answer Options :

1) Only a 2) Only b 3) a and c 4) a, b and d

11) ‘Ëñ` VbmdmÀ`m aMZo~m~V Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
a) Am`VmH¥$Vr VbmdmMr Aé§X ~mOy àM{bV dmè`mÀ`m {XeoZo g‘m§Va Agmdr.
b) VbmdmÀ`m Vimn ª̀VMm CVma (AmS>dm : C^m) àmYmÝ`mZo 1000 : 3 Vo 1000 : 6 `m à‘mUmV {Xbm OmVmo.
c) Mm¡H$moZr Vbmd ho g‘mZ joÌ’$i Agboë`m Am{U S>m`ŠgMo H«$m°g-goŠeZb joÌ Agboë`m Am`VmH¥$Vr Vbmdmnojm

~m§YÊ`mgmR>r {H$’$m`Vera Amho.
n¶m©¶r CÎmao …
1) a ’$º$ 2) a Am{U b XmoÝhr 3) a Am{U c XmoÝhr 4) b Am{U c XmoÝhr

11) Which statement(s) is/are correct with regard to design of a fish pond ?

a) The narrower side of a rectangular pond should be oriented parallel to the direction of prevailing

wind.

b) A slope (hrizontal : vertical) to the bottom of a pond is given preferably in the ratio of 1000 :

3 to 1000 : 6.

c) A square pond is economical to construct than a rectangular pond having same area and cross-

sectional area of dykes.

Answer Options :

1) a only 2) both a and b 3) both a and c 4) both b and c

12) ‘Ëñ`nmbZ VbmdmV ‘mem§À¶m g{H«$` dmT>rXaå`mZ, ’$m`Q>moßb±ŠQ>Z Am{U BVa ~m`moQ>mÀ`m Am°Q>mo{b{gg‘wio H$moUVo
nXmW© gmoS>bo OmVmV?
1) EHy$U Va§JUmao KZnXmW© 2) EHy$U Va§JUmao H$U
3) {daKibobr g|{Ð` g§̀ wJo 4) EHy$U ^m¡{VH$ H$U

12) Which substances are released on the autolysis of phytoplankton and other biota during active

growth in aquaculture pond ?

1) Total suspended solid 2) Total suspended particles

3) Dissolved organic compounds 4) Total physical particles

13) Imbrbn¡H$s H$moUVr ~m~ {dñV¥V ‘Ëñ`eoVrer g§~§{YV Zmhr?
1) Vbmd Am{U Obme`m§Vrb H$mn© ‘Ëñ`eoVr 2) {Vbm{n`mMr qnOam ‘Ëñ`eoVr
3) ^aVr-AmohmoQ>rda H$moi§~rMr eoVr 4) Ima’w$Q>rVrb ^aVr-AmohmoQ>rÀ`m VbmdmV  IoH$S>m eoVr

13) Which of the following does not belong to extensive aquaculture ?

1) Carp culture in lakes and reservoirs 2) Cage culture of tilapia

3) Tide-fed shrimp farming 4) Mud crab farming in tidal ponds in mangroves

14) Imbrbn¡H$s H$moUVr ~m~ {’$e h°MarMm KQ>H$ Zmhr?
a) ~«yS>ñQ>m°H$ YmaU joÌ b) CJdU joÌ c) Aù`m nmbZ joÌ d) Abu Zg©ar {d^mJ
n¶m©¶r CÎmao …
1) ’$º$ a 2) a Am{U b 3) a, b Am{U c 4) a, b, c Am{U d
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14) Which of the following is not a component of a fish hatchery ?

a) Broodstock holding area. b) Spawning area

c) Larval rearing area d) Early nursery section

Answer Options :

1) Only a 2) a and b 3) a, b and c 4) a, b, c and d

8) ^m¡{VH$ ŷJmob - nd©V, nR>ma, dmid§Q>, {H$ZmanÅ>r, ~oQ>o
1) H$mamH$moa‘ am§JoVrb Ho$2 ho ^maVmVrb gdm©V C§M {eIa ............ {h‘mb¶mV pñWV Amho.

1) Hw$‘mD±$ 2) H$mí‘ra 3) n§Om~ 4) nyd©
1) K2 in the Karakoram range is the highest peak in India located in the ...... Himalayas.

1) Kumau 2) Kashmir 3) Punjab 4) East

2) Aa~r g‘wÐ d ~§JmbÀ¶m CngmJambm {‘iUmè¶m ZÚm§Mm ............ à‘wI Ob{d^mOH$ Amho.
1) nyd© KmQ> 2) npíM‘ KmQ> 3) {h‘mb¶ nd©V 4) {Zb{Jar nd©V

2) ...... is a major water divider of rivers flowing into the Arabian sea and Bay of Bengal.

1) Eastern Ghats 2) Western Ghats

3) Himalaya Mountains 4) Nilgiri Mountains

3) CÎmaoH$Sy>Z X{jUoH$S>o ¶oVmZm ‘hmamï´> nR>mamda gømÐrnmgyZ Imbrb S>m|Ja am§Jm§Mm H$moUVm H«$‘ ~amo~a Amho?
1) h[aeM§Ð - ~mbmKmQ> - AqOR>m - gmV‘mim 2) gmV‘mim - AqOR>m - h[aeM§Ð - ~mbmKmQ>
3) AqOR>m - gmV‘mim - ~mbmKmQ> - h[aeM§Ð 4) ~mbmKmQ> - gmV‘mim - AqOR>m - h[aeM§Ð

3) Which of the following is the correct sequence of Mountain ranges from Sahyadri on the

Maharashtra plateau from North to South ?

1) Harishchandra - Balaghat - Ajanta - Satmala

2) Satmala - Ajanta - Harishchandra - Balaghat

3) Ajanta - Satmala - Balaghat - Harishchandra

4) Balaghat - Satmala - Ajanta - Harishchandra

4) Aa~r g‘wÐ Am{U gømÐr nd©V ¶m§À¶m Xaå¶mZ ...... hm àmH¥${VH$ {d^mJ AmT>iVmo.
1) ‘hmamï´> nR>ma 2) npíM‘ KmQ> 3) gmVnwS>m S>m|Ja 4) H$moH$U {H$ZmanÅ>r

4) ...... Natural division is found between Arabian Sea & the Sahyadri Mountains.

1) Maharashtra Plateau 2) Western Ghat 3) Satpuda Mountain 4) Kokan Coast

5) ‘hmamï´> amÁ¶mVrb S>m|Ja, nd©V d Ë¶mdarb {eIao {Xbobr AmhoV. Ë¶m AZwf§JmZo Imbrbn¡H$s MwH$sMo {dYmZ {ZdS>m.
A) Jm{dbJS> nd©VmV "~¡amQ>' {eIa 1177 ‘rQ>a C§Mrda Amho.
~) VmoaUm‘mi S>m|JamV "AñV§̂ m' ho {eIa 1154 ‘rQ>a C§Mrda Amho.
H$) JmiUm S>m|Jamda "hZw‘mZ' ho {eIa 1063 ‘rQ>a C§Mrda Amho.
S>) gømÐr nd©VmV "Vm¡bm' ho {eIa 2000 ‘rQ>a C§Mrda Amho.
n¶m©¶r CÎmao …
1) A 2) ~ 3) H$ 4) S>
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5) Hills, mountains and peaks in Maharashtra state are given. Choose the incorrect statement from

the following accordingly.

A) Bairat peak is at a height of 1177 meters in Gavilgad mountain.

B) In the Toranmal Hills, the peak 'Astambha' is at a height of 1154 meters.

C) The peak of Hanuman on Galna mountain is 1063 meters high.

D) In the Sahyadri mountains, the peak Taula is at a height of 2000 meters.

Answer Options:

1) A 2) B 3) C 4) D

6) Imbrbn¡H$s H$moUVr nd©Vam§J ’$º$ ‘hmamï´> øm EH$mM amÁ¶mV ngabobr Amho ?
A) gømÐr ~) Aadbr H$) AqOR>m S>) gmVnwS>m
n¶m©¶r CÎmao …
1) ’$º$ H$ 2) ’$º$ ~ 3) ’$º$ A 4) ’$º$ S>

6) Which of the following mountain range is spread only in one state namely Maharashtra?

a) Sahyadri  b) Aravali c) Ajantha  d) Satpura

Answer Options:

1) c only 2) b only 3) a only 4) d only

7) Imbrb d¡{eîQ>çm§À¶m AmYmao g§X{ ©̂V OmJm AmoiIm.
a) ho CëH$mnmVm‘wio V¶ma Pmbobo gamoda Amho.
b) A^¶maÊ¶ åhUyZ hr OmJm g§a{jV Amho.
c) ~ogm°ëQ> XJS>m‘Ü¶o V¶ma Pmbobo ho EH$‘od ‘moR>o gamoda Amho.
d) ømMo nmUr AëH$Y‘u Amho.
n¶m©¶r CÎmao …
1) doÊUm gamoda 2) qIS>gr gamoda 3) bmoUma gamoda 4) VmZgm gamoda

7) Identify the place on the basis of following features.

a) It is a lake created due to a meteorite

b) It is a protected place as a wildlife sanctuary.

c) It is the only major lake in the basalt rock.

d) Its water is alkaline.

1) Venna lake 2) Khindsi lake 3) Lonar lake 4) Tansa lake

9) dZo Am{U dZñnVr, n[apñW{VH$s, n`m©daU
1) ‘hmamï´>mV gdm©V H$‘r dZm§Mo joÌ AgUmam {Oëhm H$moUVm ?

A) Zm{eH$ ~) M§Ðnya H$) H$moëhmnya S>) bmVya
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ H$ 3) ’$º$ ~ 4) ’$º$ S>

1) Which district has the minimum forest are in Maharashtra ?

a) Nashik b) Chandrapur c) Kolhapur d) Latur

Answer Options :

1) Only a 2) Only c 3) Only b 4) Only d
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2) ...... ho Z¡g{J©H$ àH$maÀ¶m n[ag§ñWoV JUbo OmVo.
1) nrH$ O‘rZ 2) O§Jb 3) ~JrMm 4) darbn¡H$s H$moUVohr

2) ...... can be considered as a natural type of ecosystem.

1) Crop land 2) Forest 3) Garden 4) None of the above

3) ‘hmamï´>mVrb Imbrb A^¶maÊ¶mÀ¶m OmoS>çm§n¡H$s H$moUVr OmoS>r ¶mo½¶ Zmhr? (A^¶maÊ¶- {Oëho)
a) aohHw$ar- Ah‘XZJa b) ZmJ{Pam- A‘amdVr c) JdVmim- Am¡a§Jm~mX d) ‘miT>moH$- gmobmnya
n¶m©¶r CÎmao …
1) (a) Am{U (b) 2) ’$º$ (b) 3) ’$º$ (c) 4) (a) Am{U (c)

3) Which of the following pair of Sanctuaries in Maharashtra is not true ? (Santuaries - District)

a) Rehkuri - Ahmadnagar b) Nagzira - Amravati

c) Gautala - Aurangabad d) Maldhok - Solapur

Answer Options :

1) (a) and (b) 2) only (b) 3) only (c) 4) (a) and (c)

4) H$m§Joa ìh°br Z°eZb nmH©$À`m AmgnmgMm BH$mogopÝg{Q>ìh PmoZ H$moUË`m amÁ`mV Amho?
1) ‘Ü` àXoe 2) N>ÎmrgJS> 3) CÎmamI§S> 4) JwOamV

4) The Ecosensitive Zone around the Kanger Valley National Park is located in which state?

1) Madhya Pradesh 2) Chhattisgarh 3) Uttarakhand 4) Gujarat

5) H$m§XidZ g§ajU d g§dY©Z {df¶rÀ¶m nwT>rb {dYmZm§n¡H$s gË¶ {dYmZo H$moUVr AmhoV ?
A) H$m§XidZ O§Jbo gmYmaUnUo g‘wÐ {H$Zmar, ImS>çm, ZXr‘wI d Imè¶m XbXbr‘Ü¶o AmT>iVmV.
~) H$m§XidZm‘wio H$m~©Z qgH$ hr g§H$ënZm CX¶mg Ambr.
H$) H$m§XidZo H$m~©Z S>m¶Am°³gmBS> emoYyZ àmUdm¶y XoVmV.
S>) H$m§XidZm§À¶m g§ajUmH$[aVm amÁ¶ gaH$maZo dZ{d^mJm§VJ©V 2012 ‘Ü¶o H$m§XidZ H$j ¶m ñdV§Ì H$jmMr {Z{‘©Vr

Pmbr Amho.
n¶m©¶r CÎmao …
1) A, ~, H$, S> 2) A, ~, H$ 3) A, ~, S> 4) A Am{U S>

5) Which of the following statements about Kandal forest protection and conservation are true?

a) Mangrove forests are generally found in coastal areas, creeks, estuaries and salt marshes.

b) The concept of carbon sink emerged due to Mangroves.

c) Mangroves produce oxygen by sequestering carbon dioxide.

d) For the protection of Mangrove forests, a separate cell called Mangrove Desk  has been created

by the State Government under the Forest Department in 2012.

Answer Options:

1) A, B, C, D 2) A, B, C 3) A, B, D 4) A and D

6) OmoS>çm bmdm.
                           g§ñWm   ñWmnZm df©
A) ^maVr¶ dÝ¶Ord g§ñWm (Wildlife Institute of India) i) ‘o 1982
~) ~m°å~o Z°Mab {hñQ´r gmogm¶Q>r (Bombay Natural History Society) ii) gßQ>|~a 1883
H$) amï´>r¶ ì¶mK« g§dY©Z àm{YH$aU (National Tiger Conservation Authority -NTCA) iii) E{àb 1961
S>) OmJ{VH$ dÝ¶àmUr {ZYr (World Wide Fund for Nature) iii) {S>g|~a 2005
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n¶m©¶r CÎmao …
A ~ H$ S>

1>) i ii iv iii

2) ii iv iii i

3) i iv ii iii

4) iv i iii ii

6) Match the pairs.

                    Institute          Year

a) Wildlife Society of India i) May 1982

b) BOMBAY NATURAL HISTORY SOCIETY ii) September 1883

c) National Tiger Conservation Authority iii) April 1961

d) World Wildlife Fund iv) December 2005

Answer Options:

(a) (b) (c) (d)

1) i ii iv iii

2) ii iv iii i

3) i iv ii iii

4) iv i iii ii

7) ‘hmamï´>mV Imbrbn¡H$s H$moUVo joÌ n`m©daU (g§ajU) A{Y{Z`‘ 1986 À`m VaVwXrZwgma BH$mo-gopÝg{Q>ìh PmoZ åhUyZ
Kmo{fV Ho$bobo Zmhr?
1) ‘w§~B© ‘hmZJa àXoe 2) BJVnwar àXoe
3) ‘hm~ioída-nmMJUr àXoe 4) ‘mWoamZ àXoe

7) Which of the following areas has NOT been declared as an Eco-sensitive Zone under the provision

of the Environment (Protection) Act 1986, in Maharashtra?

1) Mumbai Metropolitan region 2) Igatpuri region

3) Mahabaleshwar-Panchgani region 4) Matheran region

8) Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho?
a) ‘moR>çm (CƒdJu¶) dZñnVr dmVmdaUmVrb ZÌmMm dmna H$ê$ eH$V ZmhrV.
b) dmT>Umar dZñnVr hr Ë¶mg bmJUmè¶m H$~©gmR>r ‘w»¶Ëdo hdoVrb H$m~©Z S>m¶Am°³gmB©S>da Adb§~Vo.
c) ‘moR>o àmUr hdoVrb H$m~©Z S>m¶Am°³gmB©S>Mm dmna H$ê$ eH$V Zmhr?
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b) 3) ’$º$ (c) 4) darb gd©

8) Which of the following sentence is true ?

a) Higher plants are unable to make use of atmospheric nitrogen.

b) Growing plant mainly depends for its carbon on carbon dioxide of air.

c) Higher animals cannot utilize the CO, of the air.

Answer Options :

1) only (a) 2) only (b) 3) only (c) 4) All of these
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9) dZñnVr OJVmVrb gdm©V ‘moR>o ...... Mo ’y$b Amho.
1) Q>m¶Q>Z Aa‘ 2) gỳ ©’y$c 3) H$‘i 4) a°âbo{g¶m AaZmoëS>r

9) The biggest flower in the plant kingdom is ........

1) Titan arum 2) Sunflower 3) Lotu 4) Rafflesia arnoldi

10) dZñnVr‘Ü¶o ...... ‘wio gwédmVrÀ¶m ‘wim§Mm {dH$mg d dmT> hmoVo.
1) H°$pëeA‘ 2) ‘°¾o{eA‘ 3) ZÌ 4) nmbme

10) ...... promotes early root development and growth in plants :

1) Calcium 2) Magnesium 3) Nitrogen 4) Potassium

11) H$moUË¶m àH$maMo Ord H$m~©ZMm òmoV åhUyZ g|{Ð¶ g§¶wJo dmnaVmV?
1) Am°Q>moQ´>m°âg 2) ’°$H$ëQ>o{Q>ìh 3) {H$‘moAm°Q>moQ´>m°âg 4) hoQ>amoQ´>m°âg

11) Which type of soil organisms use organic compounds as their source of carbon ?

1) Autotrophs 2) Facultative 3) Chemoautotrophs 4) Heterotrophs

12) à{WZo ho Ago ...... g§¶wJ Amho H$s Oo n[ag§ñWoMo g§aMZmË‘H$ d¡{eîQ>ço R>adVmV.
1) Ag|{Ð¶ 2) g|{Ð¶ 3) amgm¶{ZH$ 4) darbn¡H$s H$moUVohr Zmhr

12) Protein is considered as compound which make up the structural aspects of an ecosystem.

1) inorganic 2) organic 3) chemical 4) None of the above

13) D$Om© Am{U gm{hË¶/dñVy ¶m§Mm n[ag§ñWo‘Yrb nañnag§~§Y ...... ¶m§À¶m Ñï>rZo ’$maM ‘hÎdmMm Amho.
1) n¶m©daUemók 2) ŷJ ©̂emók 3) H¥${femók 4) dZñn{Vemók

13) The interaction of energy and materials in the ecosystem is of primary concern to the ......

1) Ecologists 2) Geologists

3) Agricultural scientists 4) Botanists

14) 'n¶m©daUmVrb gd© gOrd d {ZOud KQ>H$m§Mr EH${ÌV g§aMZm åhUOo n[ag§ñWm' hr ì¶m»¶m 1935 ‘Ü¶o H$moUr Ho$br?
1) E. Or. Q>mÝgco 2) E’$. Ama. ’$mog~J© 3) Zo~b 4) S>m{d©Z

14) Who defined the ecosystem in 1935 as ‘The study resulting from the integration of all the living

and non-living factors of the environment’ ?

1) A. G. Tansley 2) E. R. Fosberg 3) Nebal 4) Darwin

15) n[apñW{VH$s ¶m OrdemómÀ¶m ‘hÎdmÀ¶m emIobm 'BH$m°cm°Or' (Ecology) ho emór¶ Zmd gd©àW‘ ...... ¶m O‘©Z
àmUremókmZo 1869 gmbr {Xbo.
1) B©. EM. hoHo$b 2) Or. E. noQ´mB©S>g 3) Hw$. g|nb 4) ¶mn¡H$s Zmhr

15) The scientific name 'Ecology' was first given to this important branch of Biology by ...... a German

Zoologist in 1869.

1) E. H. Haeckel 2) G. A. Petridis 3) Miss Sample 4) None of these

16) ãbme, ’o$~dao, ~mo‘oZ, JmoëS>Z {~Oa ¶m§Zr ...... Mo g‘W©Z Ho$bo.
a) {ZgJ©dmX b) g§̂ ddmX c) Wm§~m d Om {dMmagaUr
n¶m©¶r CÎmao …
1) ’$º$ (b) ~amo~a Amho 2) ’$º$ (a) ~amo~a Amho
3) (a), (b) ~amo~a AmhoV 4) (a), (b), (c) ~amo~a AmhoV
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16) Blache, Fabvre, Bomen, Golden Bijar have supported to

a) Determinism b) Possibilism c) Stop and Go Determinism

Answer Options :

1) only (b) is correct 2) only (a) is correct

3) (a), (b) are correct 4) (a), (b), (c) are correct

17) ...... ho O¡{dH$ db¶mVrb {ZgJm©À¶m {d{dYVoÀ¶m A§Jmer {ZJS>rV Amho.
1) Ordemó 2) O¡{dH$ {d{dYVm (O¡d {d{dYVm)
3) O¡d dmVmdaU 4) O¡d hdm‘mZ

17) ...... deals with the degree of nature’s variety in the biosphere.

1) Biology 2) Biological diversity (Biodiversity)

3) Bio-atmosphere 4) Bio-climate

18) Imbrbn¡H$s n[ag§ñWoMr gd©gmYmaU H$moUVr H$m¶} AmhoV?
a) CËnmXZ b) dmna/Cn¶moJ c) {dKQ>Z
n¶m©¶r CÎmao …
1) (a) Am{U (c) ’$º$ 2) (a) Am{U (b) ’$º$ 3) (b) Am{U (c) ’$º$ 4) darb gd©

18) Which of the followings are the overall functions of ecosystem ?

a) Production b) Consumption c) Decomposition

Answer options :

1) (a) and (c) only 2) (a) and (b) only 3) (b) and (c) only 4) All of the above

19) Imbrbn¡H$s H$moUVo ‘mZd{Z{‘©V AmnÎmrMo CXmhaU Zmhr?
1) XheVdmXr h„m 2) ËgwZm‘r 3) Vob JiVr 4) Q>moim§Mm h„m

19) Which of the following is NOT an example of a human-made disaster?

1) Terrorist attack 2) Tsunamis 3) Oil spill 4) Locust attack

20) AmnÎmr ì`dñWmnZmMo `mo½` Q>ßno {ZdS>m.
1) V`mar → à{VgmX → nwZàm©ár → e‘Z
2) e‘Z → à{VgmX → nwZàm©ár → n[aUm‘H$maH$Vm
3) ‘m{hVr → à{VgmX → Cnm` → AZwHy$bZ
4) AZwHy$bZ → à{VgmX → nwZàm©ár → V`mar

20) Select the correct phases of disaster management.

1) Preparedness → Response → Recovery → Mitigation

2) Mitigation → Response → Recovery → Effectiveness

3) Information → Response → Solution → Adaptation

4) Adaptation → Response → Recovery → Preparedness

10)  ‘hmamḯ>mVrb O{‘ZrMo àH$ma
1) ‘hmamï´>mVrb "qgMZ Zgbobr nU AÝ`Wm bmJdS>r`mo½`' O‘rZ H$moUVr Amho?

1) ~mJm`V 2) {Oam`V 3) gZX 4) bmdUr nÅ>m
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1) Which is the ‘non-irrigated land but is otherwise cultivable’ in Maharashtra?

1) Bagayat 2) Jirayat 3. Sanad 4. Lavani Patta

2) Imbrbn¡H$s H$moUVm O‘rZ dmna joÌ Zmhr?
1) Am¡Úmo{JH$ joÌ 2) H¥$fr joÌ 3) ho[aQ>oO PmoZ 4) ì`mdgm{`H$ joÌ

2) Which of the following is NOT a land use zone?

1) Industrial zone 2) Agriculture zone 3) Heritage zone 4) Commercial zone

3) CÎma ^maVmVrb ‘¡XmZr àXoemÀ¶m H$moUË¶m JmimÀ¶m ‘¡XmZmV {h‘mb¶mVyZ dmhmV ¶oUmè¶m bhmZ ZÚm {dbwá hmoVmV?
1) VamB© ‘¡XmZ 2) ^m§Ja ‘¡XmZ 3) ImXa ‘¡XmZ 4) ^m~a ‘¡XmZ

3) In which alluvial plain of North Indian plain where small rivers flowing down from Himalay

disappears ?

1) Tarai plain 2) Bhangar plain 3) Khadar plain 4) Bhabar plain

4) ‘¥Xm {Z{‘©VrMo Imbrbn¡H$s {ZpîH«$¶ KQ>H$ H$moUVo AmhoV?
a) ‘yi gm‘wJ«r (‘yi IS>H$ Am{U I{ZOo)
b) àXoemMr ñdm^m{dH$ aMZm
c) dZñnVr Am{U Ord
n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (b) 2) ’$º$ (c) Am{U (d) 3)’$º$ (a), (b) Am{U (c) 4) ’$º$ (a), (b) Am{U (d)

4) Which of the following are the passive soil forming factors ?

a) Parent material (Rocks and minerals) b) Topography

c) Vegetation and organisms d) Time

Answer Options :

1) only (a) and (b) 2) only (c) and (d) 3) only (a), (b) and (c) 4) only (a), (b) and (d)

5) O{‘Zr‘Ü¶o dmiy, nmo¶Q>m (Jmi) Am{U {MH$U‘mVr VwbZmË‘H$ÑîQ>çm Agboë¶m à‘mUmg ...... åhUVmV.
1) O{‘ZrMm nmoV 2) O{‘ZrMr H$UaMZm 3) O{‘ZrMo dJuH$aU 4) O{‘ZrMo (‘mVrMo) H$U

5) The relative proportion of sand, silt and clay in soil is known as ......

1) Soil texture 2) Soil structure 3) Soil taxonomy 4) Soil separates

6) Imbrb OmoS>çm Owidm.
a) O{‘ZrMm H$mim Am{U JS>X amImS>r a§J i) AZhm¶S´>oQ>oS> ’o$[aH$ Am°³gmB©S>
b) O{‘ZrMm Vn{H$ar a§J ii) {g{bH$m Am{U MwZm
c) O{‘ZrMm nm§T>am a§J iii) g|{Ð¶ nXmW© Am{U Am¶Z© Am°³gmB©S> ¶m§Mo {‘lU
d) O{‘ZrMm Vm§~S>m (bmb) a§J iv) ‘w»¶Ëdo g|{Ð¶ nXmW©
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (iii) (i) (iv) (ii)

3) (iv) (i) (iii) (ii)

4) (ii) (iv) (i) (iii)
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6) Match the following :

a) Black and dark grey colour of soil i) Unhydrated ferric oxides

b) Brown colour of soil ii) Silica and lime

c) White colour of soil iii) Mixture of organic matter and iron oxides

d) Red colour of soil iv) Mainly organic matter

Answer Options :

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (iii) (i) (iv) (ii)

3) (iv) (i) (iii) (ii)

4) (ii) (iv) (i) (iii)

7) ‘¥XoÀ¶m Imbrbn¡H$s H$moUË¶m JwUY‘m©da ‘mVrVrb g|Ðr¶ nXmWm©Mm à^md nS>Vmo.
a) O{‘ZrMm XmUoXmanUm (H$UXmanUm) dmT>{dÊ¶mg CÎmoOZ {‘iVo.
b) nmUr gmR>{dÊ¶mMr j‘Vm dmT>Vo.
c) Cƒ grB©gr nmofH$ AÞÐì¶mMo {PanyZ hmoUmao ZwH$gmZ H$‘r H$aVo.
d) ZÌ, ñ’w$aX, J§YH$ Am{U gyú‘ AÞÐì¶o hr g§o{Ð¶ ñdê$nmV Yê$Z R>odVmV.
n¶m©¶r CÎmao …
1) (a) Am{U (d) 2) (b) Am{U (c) 3) (b), (c) Am{U (d) 4) darb gd©

7) Which of the following properties of soil are influenced by soil organic matter ?

a) Encourage soil granulation

b) Increases water retentive capacity

c) High CEC minimise the leaching losses of nutrients

d) NPS and micro nutrients are held in organic form

Answer Options :

1) (a) and (d) 2) (b) and (c) 3) (b), (c) and (d) 4) All of the above

8) O{‘ZrÀ¶m ‘yi H$j WamV gmR>dboë¶m nmÊ¶mMo Am{U nmUr XoÊ¶mAJmoXa ‘yi H$j WamMr nmÊ¶mMr AgUmar JaO ¶m§À¶m
JwUmoÎmamg ...... åhUVmV.
1) qgMZ H$m¶©j‘Vm 2) nmUr dhZ H$m¶©j‘Vm
3) nmUr {dVaU H$m¶©j‘Vm 4) nmUr gmR>dU H$m¶©j‘Vm

8) The ratio between the quantity of water stored in root zone and the water needed in the root zone

prior to irrigation in called as ......

1) Irrigation efficiency 2) Water conveyance efficiency

3) Water distribution efficiency 4) Water storage efficiency

9) Imbrbn¡H$s H$moUVo Cnm¶ ho ‘¥X g§dY©ZmgmR>r Kir {Z¶§ÌUmMo XrK© {MañWm¶r Am{U {Q>H$mD$ Ago dZñn{VOÝ`
Cnm¶m§Mm dmna H$aÊ¶mMo AmhoV?
a) gm°S> âb¶wåg b) PwSy>nm§Mr AS>Wio c) PmS>o PwSw>no
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b) 3) ’$º$ (c) 4) darb gd©

9) Which of the followings is/are the long lasting and sustainable vegetable control measures of

gully control for conservation of soil ?

a) sod flumes b) shrub checks c) trees and shrubs

Answer Options :

1) only (a) 2) only (b) 3) only (c) 4) All of the above
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10) qgMZ nmÊ¶m‘Yrb ...... ¶m§À¶m amgm¶{ZH$ KQ>H$m‘wio Am{U Ë¶m§À¶m EHy$U à‘mUm‘wio O{‘ZrV ~Xb hmoVmV.
1) I{ZOo 2) jma 3) YZ^m[aV H$U 4) F$U^m[aV

10) ...... in irrigation water bring about changes in soil properties by their chem and total concentration.

1) Minerals 2) Salts 3) Cations 4) Anions

11) à‘wI {nHo$ - eoVr
1) ^mV {nH$mMr nmÊ¶mMr Amdí¶H$Vm ...... Amho.

1) 150 Vo 200 {‘‘r 2) 900 Vo 2500 {‘‘r 3) 400 Vo 600 {‘‘r 4) 450 Vo 650 {‘‘r
1) A water requirement of rice crop is ......

1) 150 to 200 mm 2) 900 to 2500 mm 3) 400 to 600 mm 4) 450 to 650 mm

2) nmbme ‘ybÐì¶mMo (nmoQ>°{e¶‘Mo) nmbme Am°³gmB©S> (nmoQ>°{e¶‘ Am°³gmB©S>) ‘Ü¶o ê$nm§Va H$aÊ¶mMm ...... hm JwUm§H$
Amho.
1) 1.20 2) 2.29 3) 1.66 4) 1.39

2) Conversion factor of K element into K
2
O is ......

1) 1.20 2) 2.29 3) 1.66 4) 1.39

3) Imbrb Owidm.
'Pwq‘J' amÁ ò/H|$Ðem{gV àXoem§Mr doJdoJir Zmdo
A) nm‘bmo 1) ‘Ü` àXoe
~) {Xnm 2) ‘{Unya
H$) n|S>m 3) A§X‘mZ Am{U {ZH$mo~ma ~oQ>o
S>) X{h`m 4) Am§Y« àXoe
n¶m©¶r CÎmao …
1) A-2; B-3; C-4; D-1 2) A-3; B-4; C-1; D-2

3) A-4; B-1; C-2; D-3 4) A-2; B-4; C-1; D-3

3)  Match the following.

Different names of 'Jhumming' States/UTs

A) Pamlou 1) Madhya Pradesh

B) Dipa 2) Manipur

C) Penda 3) Andaman and Nicobar islands

D) Dahiya 4) Andhra Pradesh

Options :

1) A-2; B-3; C-4; D-1 2) A-3; B-4; C-1; D-2

3) A-4; B-1; C-2; D-3 4) A-2; B-4; C-1; D-3

4) Imbrbn¡H$s ¶mo½¶ CÎma {ZdS>m.
a) Ádmar ho ‘hmamï´>mVrb à‘wI ImÚ {nH$ Amho.
b) ÁdmarMo CËnmXZ Iarn Am{U aã~r XmoÝhr h§Jm‘mV KoVbo OmVo.
c) ÁdmargmR>r C~Xma hdm‘mZ, H$mir O‘rZ ¶mMr Amdí¶H$Vm ZgVo.
n¶m©¶r CÎmao …
1) (a) {dYmZ ¶mo½¶ Amho. 2) (a) Am{U (b) {dYmZo ¶mo½¶ AmhoV.
3) (b) Am{U (c) {dYmZo ¶mo½¶ AmhoV. 4) gd© {dYmZo ¶mo½¶ AmhoV.
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4) Choose the appropriate answer from the following.

a) Sorghum is a major food crop in Maharashtra.

b) Sorghum is grown in both Kharif & Rabi seasons.

c) Sorghum does not require warm weather & black soil.

Answer Options :

1) (a) is correct. 2) (a) and (b) are correct.

3) (b) and (c) are correct. 4) All are correct statements.

5) Imbrbn¡H$s H$moUVr nrHo$ hr ‘mVrMr Yyn amoYH$ nrHo$ AmhoV?
a) Mdir Am{U ‘yJ b) Ádmar Am{U ~mOar c) ŵB©‘yJ Am{U CS>rX d) H$mnyg Am{U ‘H$m
n¶m©¶r CÎmao …
1) (a) Am{U (b) ’$º$ 2) (b) Am{U (c) ’$º$ 3) (a) Am{U (c) ’$º$ 4) (b) Am{U (d) ’$º$

5) Which of the following crops are soil erosion resisting crops ?

a) Cowpea and green gram b) Sorghum and pearl millet

c) Groundnut and black gram d) Cotton and maize

Answer Options :

1) (a) and (b) only 2) (b) and (c) only 3) (a) and (c) only 4) (b) and (d) only

6) OmoS>çm bmdm.
(gyú‘ AÞÐì¶o)                     (H$m¶©)
a) OñV (qPH$) i) ZdrZ noetMm {dH$mg d dmT>
b) ‘m°brãS>oZ‘ ii) àH$meg§íbofUgmR>r Amdí¶H$
c) ŠcmoarZ iii) e|J Hw$imVrb {nH$m‘Ü¶o ZÌ pñWarH$aU
d) ~moam°Z iv) AZoH$ EZPmBågMo KQ>H$
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (ii) (iv) (i) (iii)

2) (iv) (iii) (ii) (i)

3) (ii) (i) (iv) (iii)

4) (iii) (i) (iv) (ii)

6) Match the followings :

(micro nutrients)                    (Function)

a) Zine i) Development and growth of new cells

b) Molybdenum ii) Essential for photosynthesis

c) Chlorine (iii) Nitrogen fixation in legumes

d) Boron iv) Constituent of several enzymes

Answer Options :

(a) (b) (c) (d)

1) (ii) (iv) (i) (iii)

2) (iv) (iii) (ii) (i)

3) (ii) (i) (iv) (iii)

4) (iii) (i) (iv) (ii)
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7) {nH$mÀ¶m CËnmXZmda XþîH$mimMm (nmÊ¶mMm VmU) à{VHy$b n[aUm‘ H$‘r H$aÊ¶mgmR>r ¶mo½¶ ì¶dñWmnZ (Cnm¶)
gwMdm?
a) g|{Ð¶ ^aIVo dmnam b) AmÀN>mXZmMm dmna
c) nmÊ¶mMm VmU/H$‘VaVm ghZ H$aUmar {nHo$ KoUo d) gKZ nrH$ nÕVr
n¶m©¶r CÎmao …
1) (a) ’$º$ 2) (b) Am{U (d) ’$º$ 3) (a), (b) Am{U (c) ’$º$ 4) darb gd©

7) Suggest suitable management practices to mitigate the adverse effect of drought on crop

production :

a) Apply bulky organic manures b) Use of mulches

c) Growing drought resistant crops d) Intensive cropping system

Answer Options :

1) (a) only 2) (b) and (d) only 3) (a), (b) and (c) only 4) All of the above

8) dZñnVr‘Ü¶o ...... ‘wio gwédmVrÀ¶m ‘wim§Mm {dH$mg d dmT> hmoVo.
1) H°$pëeA‘ 2) ‘°¾o{eA‘ 3) ZÌ 4) nmbme

8) ...... promotes early root development and growth in plants :

1) Calcium 2) Magnesium 3) Nitrogen 4) Potassium

9) {dYmZ (A) Am{U H$maU (R) Ago bo~b Agboë`m Imbrb XmoZ {dYmZm§gmR>r gË` Agbobm n`m©̀  {ZdS>m.
à{VnmXZ (R) : nrH$ CËnmXH$Vm dmT>{dÊ`mgmR>r XrK© H$mbmdYrgmR>r ‘moR>çm à‘mUmda ì`mdgm{`H$ IVm§Mm A{VaoH$
hr `mo½` à{H«$`m Zmhr.
H$maU (R) : Aem ì`mdgm{`H$ IVm§À`m dmT>Ë`m dmnam‘wio O{‘ZrVrb gyú‘Ord dZñnVr, ‘mVrMr aMZm, dZñnVr,
n[ag§ñWm Am{U n`m©daUmMo ZwH$gmZ hmoVo.
n¶m©¶r CÎmao …
1) (A) Am{U (R) XmoÝhr gË` AmhoV Am{U (R) ho (A) gmR>r `mo½` ñnï>rH$aU Amho.
2) (A) Am{U (R) XmoÝhr gË` AmhoV, na§Vw (R) ho (A) gmR>r `mo½` ñnï>rH$aU Zmhr.
3) (A) Iao Amho na§Vw (R) ImoQ>o Amho.
4) (A) ImoQ>o Amho nU (R) Iao Amho.

9) Select the option that is true regarding the following two statements labelled Assertion (A) and

Reason (R).

Assertion (A) : The excessuse of large-scale commercial fertilisers for a long period is not an

appropriate process to enhance crop productivity.

Reason (R) : The increased use of such commercial fertilisers causes damage to the soil microbial

flora, soil structure, plants, the ecosystem, and the environment.

Answer Options :

1) Both (A) and (R) are true and (R) is the correct explanation for (A).

2) Both (A) and (R) are true, but (R) is NOT the correct explanation for (A).

3) (A) is true but (R) is false.

4) (A) is false but (R) is true
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12) ehao Am{U ZmJarH$aU
1) ...... hr 200 ImQ>m§À`m hm°pñnQ>b‘Ü ò hm°pñnQ>b ’$m‘©grgmR>r Amdí`H$ Agbobr OmJm Amho.

1) 1200 Mm¡. ’y$Q> 2) 630 Mm¡. ’y$Q> 3) 205 Mm¡. ’y$Q> 4) 420 Mm¡. ’y$Q>
1) ___ is the space required for a hospital pharmacy in a 200-bedded hospital.

1) 1200 sq.ft 2) 630 sq.ft 3) 205 sq.ft 4) 420 sq.ft

2) EWS Am{U LIG À`m Hw$Qw>§~m§gmR>r àYmZ‘§Ìr Amdmg `moOZm (ehar) A§VJ©V Ka ~m§YÊ`mgmR>r {H$‘mZ MQ>B© joÌ
AZwH«$‘o Am{U Amho.
1) 30 m2, 60 m2 2) 25 m2, 50 m2 3) 30 m2, 50 m2 4) 32 m2, 64 m2

2) The minimum carpet area for construction of house under Pradhan Mantri Awas Yojana (Urban)

for households of EWS and LIG is and , respectively........

1) 30 m2, 60 m2 2) 25 m2, 50 m2 3) 30 m2, 50 m2 4) 32 m2, 64 m2

3) ehar {Z`moOZmVrb Zo~ahþS> ẁ{ZQ> {gÕm§VmMr g§H$ënZm Imbrbà‘mUo hmoVr :
1) hmo‘a hm°BQ> 2) ŠboaoÝg E noar 3) n°{Q´H$ JoS>og 4) dm°Z WwZoZ

3) The Neighbourhood Unit Theory in urban planning was conceptualised by :

1) Homer Hoyt 2) Clarence A Perry 3) Patrick Geddes 4) Von Thunen

4) ...... hr g§km gd©àW‘ A‘o[aH$Z ŷJmobVÁk OrZ Jm°Q>‘Z ¶m§Zr ‘m§S>br.
1) à‘hmZJa 2) ‘hmZJa 3) ZJa 4) ZJa n§Mm¶V

4) The term ...... was first coined by American geographer Gene Gottman.

1) Megalopolis 2) Metropolitan 3) City 4) Nagar Panchayat

5) ‘hmamï´>mVrb H$moUË`m ehambm 2019-20 ‘Ü ò J¥h{Z‘m©U Am{U ZmJar ì`dhma ‘§Ìmb`mZo H$Mam‘wº$ eha åhUyZ
n§MVmam§{H$V ‘mZm§H$Z àmá Ho$bo Amho?
1) ZmJnya 2) Zm{eH$ 3) AH$mobm 4) Zdr ‘w§~B©

5) Which city of Maharashtra received five star rating in Garbage Free City, by the Ministry of

Housing and Urban Affairs, during 2019-20?

1) Nagpur 2) Nashik 3) Akola 4) Navi Mumbai

6) ZmJarH$aUm‘wio ZmJar joÌmV KSy>Z ¶oUmao ~Xb AmhoV -
a) OZgm§p»¶H$s¶ ~Xb
b) g‘mO g§aMZoV ~Xb
c) ì¶dhm[aH$ ~Xb
n¶m©¶r CÎmao …
1) (a) ’$º$ 2) (a) Am{U (b) 3) (c) ’$º$ 4) darb gd©

6) Due to urbanization, there is/are changes in urban area.

a) Demographic changes

b) Change in social structure

c) Behavioural changes

Answer Options :

1) (a) only 2) (a) and (b) 3) (c) only 4) All of the above
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7) 'H$Z~}eZ' hm eãX Imbrb Jmoï>ter g§~§{YV Amho:
1) ehamMr OrdZe¡br
2) ehar bmoH$g§» òMr dmT>
3) ehar bmoH$m§Mo JmdmH$S>o ñWbm§Va
4) XmoZ qH$dm A{YH$ eham§Mm EH${ÌVnUo dmT>Umam àXoe gVV ZmJar joÌ ~ZdVmo

7) The term ‘Conurbation’ is associated with:

1) the lifestyle of the city

2) the growth of urban population

3) the migration of urban people to the villages

4) a territorial growing together of two or more cities to form a continuous urban area

8) ehar ŷJmobmV 'KoÅ>mo' Mm g§X ©̂ Amho :
1) ehar bmoH$g§»`m 2) ehar J¥h{Z‘m©U KZVm 3) ehar JwÝho 4) ehar PmonS>nÅ>r joÌ

8) In urban Geography ‘Ghetto’ refers to :

1) urban population 2) urban housing density

3) urban crime 4) urban slum area

9) bJVMr ehao dmT>Ê`mMr Am{U EH$Ì {dbrZ hmoÊ`mMr KQ>Zm åhUyZ AmoiIbr OmVo:
1) ‘hmZJa 2) ehar 3) EH$ÌrH$aU 4) {‘lU

9) The phenomenon of adjoining towns growing and merging together is known as :

1) metropolis 2) rurban 3) agglomeration 4) blending

10) EH$mJ« joÌmÀ`m g§H$ënZoda AmYm[aV ZmJar O‘rZ dmna ‘m°S>ob åhUyZ AmoiIbo OmVo :
1) h°[ag Am{U Cb‘Z ‘m°S>ob 2) h°JañQ±́S> ‘m°S>ob
3) ~O}g ‘m°S>ob 4) hmo‘a hm°̀ Q>Mo ‘m°S>ob

10) The Urban Land Use model, based on the concept of concentric zone, is known as :

1) Harris and Ullman model 2) Hagerstrand model

3) Burgess model 4) Homer Hoyt’s model

11) ñWm¶r dgmhV (dñË¶m) ñWmnZoMo Imbrbn¡H$s H$moUVo H$maU/H$maUo AmhoV?
1) Ym{‘©H$ {dYr H$aÊ¶mH$[aVm 2) ór d ‘wbm§Zm gwajm XoÊ¶mH$[aVm
3) AÝ¶ O‘mVrÀ¶m AmH«$‘UmnmgyZ gwajm 4) darbn¡H$s gd©

11) Which of the following is/are reasons/a reason for the establishment of stable settlements ?

1) To perform religious rituals 2) To give protection to women and children

3) To protect from invaders’ attacks 4) All of the above

12) Imbrbn¡H$s H$moUË¶m KQ>H$mMm ‘mZdr dgmhVrda n[aUm‘ hmoVmo?
a) ŷn¥ð>aMZm b) nmUr c) gy¶©àH$me
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b) 3) (a) Am{U (b) 4) (a), (b) Am{U (c)

12) Which of the following factors affect human settlement.

a) Topography b) Water c) Sunlight

Answer Options :

1) only (a) 2) only (b) 3) (a) and (b) 4) (a), (b) and (c)
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13) EH$mM dñVrVrb Kao EH$‘oH$m§nmgyZ doJir d A{Z¶{‘VnUo dgbobr AgVmV Aem dñVrg ...... Ago åhUVmV.
1) H|$Ðr¶ dñVr 2) {dIwabobr dñVr 3) g§{‘l dñVr 4) AnI§{S>V dñVr

13) The settlement in which houses are physically separated and uneven distributed is called as ......

1) nucleated settlement 2) dispersed settlement

3) composite settlement 4) fragmented settlement

14) J«m‘rU dgmhVr‘Ü¶o ...... ñdê$nmÀ¶m ì¶dgm¶m‘Ü¶o H$m‘ H$aUmè¶m§Mr g§»¶m gdm©{YH$ AgVo.
1) {ÛVr¶H$ 2) V¥Vr¶H$ 3) àmW{‘H$ 4) MVwW©H$

14) In rural settlements, the highest number of people work in ...... type of occupation.

1) Secondary 2) Tertiary 3) Primary 4) Quarternary

15) ga E~oZoPa hm°dS>© `m§À`m JmS>©Z {gQ>r g§H$ënZoV Imbrb Jmoï>tMm g‘mdoe hmoVm :
1) àË òH$ ImOJr ‘mbH$sÀ`m KamMr ñdV…Mr nwT>rb Am{U ‘mJrb ~mJ Amho
2) Q>m°da ãbm°H$ bmoH$g§» òbm AZwb§~ {dñWm{nV H$aVmV Am{U ~hþVoH$ CnbãY O‘rZ {hadrJma åhUyZ gmoS>VmV
3) {haì`m nQ²>Q>çm§Zr doT>bobr Am{U ‘moR>çm ‘Ü`dVu ehamer OmoS>bobr ghm N>moQ>r ehao
4) ^anya PmS>o, ’w$bo Am{U gmd©O{ZH$ ~mJm Agboë`m eham§Mo {Z`moOZ

15) The Garden City concept by Sir Ebenezer Howard consisted of :

1) each privately owned house having its own front and rear garden

2) tower blocks displacing the population vertically and leaving most of the available land as

greenery

3) six small towns surrounded by green belts and linked to a larger central city

4) planning cities to have plenty of trees, flowers and public gardens

16) Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho?
a) qgMZmgmR>r ZJanm{bH$m gm§S>nmÊ¶mMm dmna Ho$ë¶mZo O{‘ZrV CnbãY qPH$ Am{U Vm§~o O‘m hmoÊ¶mV bjUr¶ dmT>

hmoVo.
b) qgMZmgmR>r ZJanm{bH$m gm§S>nmÊ¶mMm dmna Ho$ë¶mZo O{‘ZrV H°$S>{‘¶‘ (Cd) O‘m hmoÊ¶mV bjUr¶ dmT> hmoVo.
n¶m©¶r CÎmao …
1) (a) {dYmZ ~amo~a Amho. 2) (b) {dYmZ ~amo~a Amho.
3) XmoÝhr (a) Am{U (b) {dYmZo ~amo~a AmhoV. 4) darbn¡H$s EH$hr {dYmZ ~amo~a Zmhr

16) Which of the following statements is correct ?

a) Use of municipal waste water for irrigation leads to substantial increase in accumulation of

Zinc (Zn) and Copper (Cu) in soils

b) Use of municipal waste water for irrigation leads to substantial increase in accumulation of

Cadmium (Cd) in soils.

Answer Options :

1) (a) statement is correct 2) (b) statement is correct

3) Both (a) and (b) statements are correct 4) Neither of the above statement is correct

17) g°Q>obmBQ> Q>mCZMo dU©Z Ago H$aVm òB©b :
1) ehar joÌmMr Aì`dpñWV Am{U H$‘r KZVm ~mø dmT>
2) A§VJ©V ehamMo ^m¡{VH$ Am{U gm‘m{OH$-Am{W©H$ nwZé‚mrdZ
3) ‘yi ehamda H$m`m©Ë‘H$ Adb§{~Ëd Agbobr ‘w»`V… dgVrJ¥h goQ>b‘|Q>
4) ehamÀ`m noar ZmJar joÌmMo ^m¡{VH$ Am{U gm‘m{OH$-Am{W©H$ nwZé‚mrdZ
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17) A satellite town can be described as :

1) a haphazard and low-density outward growth of urban area

2) a physical and socio-economic revival of the inner city

3) a primarily dormitory settlement with functional dependency on the parent city

4) a physical and socio-economic revival of the peri urban area of the city

18) Imbrbn¡H$s H$embm ehamMm Jm^m åhUVmV?
1) goŠQ>a 2) {Oëhm 3) g|Q´b {~PZog {S>pñQ´ŠQ> 4) ZmoS²g

18) Which of the following is called the core of a city?

1) Sector 2) District

3) Central Business District 4) Nodes

13) Am{W©H$ ŷJmob - I{ZOo Am{U D$Om© g§gmYZo, dmhVyH$ Am{U n ©̀Q>Z

I{ZOo Am{U D$Om© g§gmYZo

1) ¶mo½¶ OmoS>çm bmdm.
      amÁ¶ bmohI{ZO CËnmXH$ àXoe
a) ‘hmamï´> i) ~m~m ~wXmZ Q>oH$S>çm
b) Amo[agm ii) ~ñVa
c) H$Zm©Q>H$ iii) M§Ðnya
d) N>ÎmrgJS> iv) ~moZmB©
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iii) (i) (iv) (ii)

2) (ii) (iii) (iv) (i)

3) (iii) (iv) (i) (ii)

4) (i) (ii) (iii) (iv)

1) Match the following.

      State Region of Iron ore production

a) Maharashtra i) Bababudan hills

b) Orissa ii) Bastar

c) Karnataka iii) Chandrapur

d) Chhattisgarh iv) Bonai

Answer Options :

(a) (b) (c) (d)

1) (iii) (i) (iv) (ii)

2) (ii) (iii) (iv) (i)

3) (iii) (iv) (i) (ii)

4) (i) (ii) (iii) (iv)
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2) ‘hmamï´>mVrb H$moUË¶m {OëømV gdm©{YH$ bmohI{ZO CËnmXZ hmoVo ?
1) M§Ðnya 2) A‘amdVr 3) AH$mobm 4) ¶dV‘mi

2) Which District of Maharashtra has the highest iron are production ?

1) Chandrapur 2) Amraravati 3) Akola 4) Yavatmal

3) OmoS>çm bmdm …
XJS>r H$moigm àH$ma H$m~©Z à‘mU (%)
A) A±W«mgmB©Q> i) ’$º$ 30%
~) {~Qw>{‘Zg ii) 50%
H$) {b¾mB©Q> iii) 40 Vo 80%
S>) nrQ> iv) 95%
n¶m©¶r CÎmao …

(A) (~) (H$) (S>)
1) i iii ii iv

2) iii ii i iv

3) iv i ii iii

4) iv iii ii i

3) Match the following :

Types of coal Carbon Content (%)

a) Anthracite i) Only 30%

b) Bituminous ii) 50%

c) Lignite iii) 40 to 80%

d) Peat iv) 95%

Answer Option :

(a) (b) (c) (d)

1) i iii ii iv

2) iii ii i iv

3) iv i ii iii

4) iv iii ii i

dmhVyH$ Am{U n ©̀Q>Z

1) ...... àH$ënm‘Ü¶o ZmJnya ¶oWrb {d‘mZVimbm Am§Vaamï´>r¶ àdmgr d H$mJm}dmhH$ {d‘mZVim‘Ü¶o {dH${gV H$aÊ¶mMm
g‘mdoe Amho.
1) dwhmZ 2) {‘hmZ 3) àm{YH$aU 4) dmhVyH$

1) The ...... project involves developing the airport at Nagpur into an international passenger and

cargo hub airport.

1) Wuhan 2) Mihan 3) Authority 4) Transportation

2) ...... ho AmYw{ZH$ gmoB© Agbobo ^maVmVrb ~§Xa gZ 1989 ‘Ü¶o gwê$ H$aÊ¶mV Ambo.
1) ‘w§~B© 2) Odmhabmb Zohê$ 3) qgYwXþJ© 4) XodJS>

2) ...... is a modern port of convenience in India launched in 1989.

1) Mumbai 2) Jawaharlal Nehru 3) Sindhudurg 4) Devgad
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3) Imbrb {dYmZo nhm.
a) ‘hmamï´> amÁ¶mVrb {d‘mZVim§Mm {dH$mg H$aÊ¶mgmR>r ‘hmamï´> {d‘mZVi H§$nZr (MADC) Mr ñWmnZm 2002 ‘Ü¶o

H$aÊ¶mV Ambr.
b) darb àH$ënm‘Ü¶o SICOM Am{U MSRDC ¶m§Mm gh^mJ Amho.
n¶m©¶r CÎmao …
1) {dYmZ (a) ~amo~a Amho 2) {dYmZ (a) Am{U (b) ~amo~a AmhoV.
3) {dYmZ (a) ~amo~a Zmhr 4) {dYmZ (a) Am{U (b) ~amo~a ZmhrV.

3) Observe the following statements :

a) Maharashtra Airport Development Company (MADC) was established in 2002 to develop

airports in the State of Maharashtra.

b) There is a Participation of SICOM and MSRDC in the above project.

Answer Option :

1) Statement (a) is correct 2) Statement (a) and (b) are correct

3) Statement (a) is not correct 4) Statement (a) and (b) are not correct

4) ...... ho AmYw{ZH$ gmoB© Agbobo ^maVmVrb ~§Xa gZ 1989 ‘Ü¶o gwê$ H$aÊ¶mV Ambo.
1) ‘w§~B© 2) Odmhabmb Zohê$ 3) qgYwXþJ© 4) XodJS>

4) ...... is a modern port of convenience in India launched in 1989.

1) Mumbai 2) Jawaharlal Nehru 3) Sindhudurg 4) Devgad

5) ‘hmamï´>mV H$moH$U aoëdo ‘mJm©Mr bm§~r ............ {H$.‘r. Amho.
1) 382 2) 428 3) 568 4) 152

5) The length of  Konkan Railway line in Maharashtra is .............. km.

1) 382 2) 428 3) 568 4) 152

6) H$moH$U aoëdo H$m°nm}aoeZZo Amnë¶m g§nyU© ........ {H$bmo‘rQ>a ‘mJm©Mo {dÚwVrH$aU nyU© Ho$bo Amho, Omo ‘hmamï´>mVrb amohm
Vo H$Zm©Q>H$mVrb R>moHy$a n¶ªV ngabm Amho.
1) 641 2) 741 3) 711 4) 611

6) The Konkan Railway Corporation has finished electrification of its entire kilometer route that

stretches from Roha, Maharashtra to Thokur, Karnataka.

1) 641 2) 741 3) 711 4) 611

7) ‘hmamï´mVrb n{hbm n¶©Q>Z {Oëhm åhUyZ ................. ¶m {Oëømg ‘mÝ¶Vm {‘imbr Amho.
1) aËZm{Jar 2) nwUo 3) qgYwXþJ© 4) am¶JS>

7)  This district has been recognized as the first tourism district in Maharashtra.

1) Ratnagiri 2) Pune 3) Sindhudurg  4) Raigad

8) OmoS>çm bmdm.
a) am¶JS> i) {^b‘m
b) nwa§Xa ii) VmZmOr ‘mbwgao
c) Xm¡bVm~mX iii) gdmB© ‘mYdamd
d) qghJS> iv) {hamoOr B§XÿbH$a
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n¶m©¶r CÎmao …
(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (iii) (iv) (i) (ii)

3) (iv) (iii) (i) (ii)

4) (i) (ii) (iv) (iii)

8) Match the following.

a) Raigad i) Bhilma

b) Purandar ii) Tanaji Malusare

c) Daulatabad iii) Sawai Madhavrao

d) Sinhagad iv) Hiroji Indulkar

Answer Options :

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (iii) (iv) (i) (ii)

3) (iv) (iii) (i) (ii)

4) (i) (ii) (iv) (iii)

14) CÚmoJ
1) Imbrb {dYmZo nhm.

a) npíM‘ ‘hmamï´>mV gmIa CÚmoJmMo H|$ÐrH$aU ‘moR>çm à‘mUmV Pmbo Amho.
b) Ah‘XZJa, H$moëhmnya, gmVmam, nwUo ho gmIa CËnmXZmV AJ«oga {Oëho AmhoV.
c) ‘hmamï´>mV n{hbm gmIa H$maImZm ‘§w~B© ¶oWo C^maÊ¶mV Ambm.
n¶m©¶r CÎmao …
1) ’$º$ {dYmZ (a) ~amo~a Amho. 2) {dYmZo (a) Am{U (b) ~amo~a AmhoV.
3) ’$º$ {dYmZ (c) ~amo~a Amho. 4) {dYmZo (a), (b), (c) ~amo~a AmhoV.

1) Observe the following statements :

a) The sugar industry has been largely concentrated in Western Maharashtra.

b) Ahmednagar, Kolhapur, Satara & Pune are leading districts in sugar production.

c) The first sugar factory in Maharashtra was established in Mumbai.

Answer Options :

1) only statement (a) is correct. 2) statements (a) and (b) are correct.

3) only statement (c) is correct. 4) Statements (a), (b), (c) are correct.

2) ‘hmamï´>mV ........ ¶oWo AmJnoQ>çm {Z{‘©VrMo EH$ H|$Ð Amho.
A) A§~aZmW ~) nwUo H$) gm§Jbr S>) na^Ur
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ ~ 3) ’$º$ S> 4) ’$º$ H$

2) In Maharashtra, there is a Match Box Manufacturing Centre at

a) Ambarnath b) Pune c) Sangli d) Parbhani

Answer Options :

1) Only a 2) Only b 3) Only d 4) Only c
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3) OmoS>çm Owidm.
                ñV§̂  'A' ñV§̂  'B'

a) ^m^m A°Q>mo{‘H$ [agM© g|Q>a i) H$ën¸$‘
b) [aA°³Q>a [agM© g|Q>a ii) Vmamnya
c) Q>mQ>m BpÝñQ>Q>çyQ> Am°’$ ’§$S>m‘|Q>b [agM© iii) Q́>m°å~o
d) A°Q>mo{‘H$ nm°da ñQ>oeZ iv) ‘§w~B©
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (ii) (iii) (iv) (i)

2) (iii) (i) (ii) (iv)

3) (i) (ii) (iii) (iv)

4) (iv) (iii) (ii) (i)

3) Match the following :

            Column - A Column - B

a) Bhabha Atomic Research Centre i) Kalpkam

b) Reactor Research Centre ii) Tarapur

c) Tata Institute of Fundamental Research iii) Trombe

d) Atomic Power Station iv) Mumbai

Answer Options :

(a) (b) (c) (d)

1) (ii) (iii) (iv) (i)

2) (iii) (i) (ii) (iv)

3) (i) (ii) (iii) (iv)

4) (iv) (iii) (ii) (i)

4) .......... àH$ënm‘Ü¶o ZmJnya ¶oWrb {d‘mZVimbm Am§Vaamï´>r¶ àdmgr d H$mJm}dmhH$ {d‘mZVim‘Ü¶o {dH${gV H$aÊ¶mMm
g‘mdoe Amho.
1) dwhmZ 2) {‘hmZ 3) àm{YH$aU 4) dmhVyH$

4) The ...... project involves developing the airport at Nagpur into an international passenger and

cargo hub airport.

1) Wuhan 2) Mihan 3) Authority 4) Transportation

15) amOH$s` ŷJmob - bmoH$g§»`m, ^mfm, O‘mVr Am{U d§e, ñWmZo Am{U gr‘m

bmoH$g§»`m

1) Wm°‘g ‘mëWg ¶m§Zr bmoH$g§»¶m dmT>rMm {gÕm§V H$moUË¶m gmbr ‘m§S>bm?
1) 1798 2) 1834 3) 1788 4) 1805

1) In which year Thomas Malthus put forwarded the population growth theory ?

1) 1798 2) 1834 3) 1788 4) 1805



For Private Circulation Only

JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : ŷJmob / 45

2) Imbrbn¡H$s H$moUVr {dYmZ/{dYmZo ~amo~a Amho/AmhoV ?
a) B. gZ 2000 ‘Ü¶o amï´>r¶ bmoH$g§»¶m YmoaU Omhra H$aÊ¶mV Ambo.
b) B. gZ 2002 ‘Ü¶o amï´>r¶ Amamo½¶ YmoaU Om{ha H$aÊ¶mV Ambo.
c) B. gZ 2002 ‘Ü¶o amï´>r¶ ObYmoaU Omhra H$aÊ¶mV Ambo.
d) B. gZ 2013 ‘Ü¶o AÞ gwajm YmoaU Omhra H$aÊ¶mV Ambo.
n¶m©¶r CÎmao …
1) darb gd© 2) (a), (b) Am{U (d) 3) (a), (c) Am{U (d) 4) ’$º$ (a)

2) Which of the following statements is/are correct ?

a) The National Population Policy was announced in 2000.

b) The National Health Policy was announced in 2002.

c) The National Water Policy was announced in 2012.

d) The Food Security Policy was announced in 2013.

Answer Options :

1) All of the above 2) (a), (b) and (d) 3) (a), (c) and (d) 4) Only (a)

3) 2000 À¶m bmoH$g§»¶m YmoaUm‘Ü¶o 2000 gmR>r amï´>r¶ gm‘m{OH$-OZgm§p»`H$s` C{ÔîQ>ço Imbrbn¡H$s H$moUVr hmoVr?
a) ~mb ‘¥Ë¶yMm Xa Xa hOmar {Od§V OÝ‘boë¶m ~mim‘mJo 30 nojm H$‘r H$aUo.
b) ‘mVm ‘¥Ë¶yMo à‘mU à{V 100000 {Od§V OÝ‘m‘mJo 100 À¶m Imbr AmUUo.
c) ‘wbtÀ¶m C{eam b¾ H$aÊ¶mbm àmoËgmhZ XoUo, d¶mÀ¶m 18 nojm AmYr Zmhr, àmYmÝ¶mZo 20 dfm©Z§Va H$aUo.
d) OZVobm Ë¶m§Mo A{YH$ma {‘idyZ XoUo.
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) (a) Am{U (b) 3) (b) Am{U (c) 4) darbn¡H$s gd©

3) Which of the following were the national socio-demographic objectives for 2010 in the population

policy of 2000 ?

a) To reduce infant Mortality rate to below 30 per 1000 live births.

b) To Reduce Maternal Mortality ratio to below 100 per 100000 live births.

c) To promote delayed marriage for girls, not earlier than age 18 and preferably after 20 years of

age.

Answer Options :

1) Only (a) 2) (a) and (b) 3) (b) and (c) 4) All of the above

4) bmoH$g§» òÀ`m AmYmao dJuH$aU H$aVmZm ‘hmZJamMr bmoH$g§»`m {H$Vr Agmdr?
1) 50,00,000 Am{U darb 2) 10,00,000 Am{U darb
3) 3,00,000 Am{U 4) 1,00,000 Am{U darb

4) When classified on the basis of population, what should be the population of a metropolis?

1) 50,00,000 and above 2) 10,00,000 and above

3) 3,00,000 and above 4) 1,00,000 and above

5) 2018 ‘Ü ò Ho$boë`m OmJ{VH$ eharH$aU g§̂ mdZm Aä`mgmÀ`m A§XmOmZwgma, 2050 n ª̀V {H$Vr Q> o̧$ bmoH$g§»`m
ehar Agob?
1) 46% 2) 56% 3) 66% / 68% 4) 76%

5) As per the projection by World Urbanization Prospects study undertaken in 2018, what percentage

of population will be urban by 2050?

1) 46% 2) 56% 3) 66% / 68 % 4) 76%



For Private Circulation Only

JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : ŷJmob / 46

6) ^maVmÀ`m 2011 À`m OZJUZoZwgma, d¡Ym{ZH$ eham§Mr EHy$U g§»`m {H$Vr Amho?
1) 2081 2) 3203 3) 6081 4) 4041

6) As per Census of India 2011, what is the total number of statutory towns?

1) 2081 2) 3203 3) 6081 4) 4041

7) OmoS>çm bmdm … (2011 À¶m OZJUZoZwgma)
amÁ¶ qbJJwUmoÎma

a) ‘hmamï´> i) 919
b) H$Zm©Q>H$ ii) 929
c) Ho$ai iii) 973
d) JwOamV iv) 1084
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (ii) (i) (iv) (iii)

2) (ii) (iii) (iv) (i)

3) (iii) (i) (iv) (ii)

4) (iv) (iii) (i) (ii)

7) Match the following (As per 2011 census) :

State Sex Ratio

a) Maharashtra i) 919

b) Karnataka ii) 929

c) Kerala iii) 973

d) Gujarat iv) 1084

(a) (b) (c) (d)

1) (ii) (i) (iv) (iii)

2) (ii) (iii) (iv) (i)

3) (iii) (i) (iv) (ii)

4) (iv) (iii) (i) (ii)

8) OZJUZm 2011 à‘mUo ‘hmamï´> amÁ¶mV H$moUË¶m àH$maÀ¶m ñWbm§VamMo à‘mU OmñV Amho?
1) J«m‘rU ^mJmVyZ J«m‘rU ^mJmV 2) ZmJar ^mJmVyZ ZmJar ^mJmV
3) ZmJar ^mJmVyZ J«m‘rU ^mJmV 4) J«m‘rU ^mJmVyZ ZmJar ^mJmV

8) Which type of migration is higher in Maharashtra State as per census 2011 ?

1) From rural areas to rural areas 2) From urban areas to urban areas

3) From urban areas to rural areas 4) From rural areas to urban areas

9) OmoS>çm Owidm.
{Oëhm qbJJwUmoÎma OZJUZm 2011
a) §̂S>mam i) 999

b) Jm|{X`m ii) 982

c) aËZm{Jar iii) 1122

d) bmVya iv) 928
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n¶m©¶r CÎmao …
(a) (b) (c) (d)

1) (ii) (i) (iii) (iv)

2) (i) (ii) (iv) (iii)

3) (iii) (i) (ii) (iv)

4) (iv) (iii) (i) (ii)

9) Match the following :

District Sex-ratio census 2011

a) Bhandara i) 999

b) Gondiya ii) 982

c) Ratnagiri iii) 1122

d) Latur iv) 928

Answer Options :

(a) (b) (c) (d)

1) (ii) (i) (iii) (iv)

2) (i) (ii) (iv) (iii)

3) (iii) (i) (ii) (iv)

4) (iv) (iii) (i) (ii)

10) OZJUZm 2011 Zwgma, Imbrb {Oëøm§Mm ~mb qbJ JwUmoÎma (0 - 6) g§X^m©V CVaVm H«$‘ bmdm.
a) M§Ðnya b) OiJmd c) ~rS> d) Jm|{X¶m
n¶m©¶r CÎmao …
1) (d), (b), (c), (a) 2) (c), (b), (a), (d) 3) (d), (a), (b), (c) 4) (b), (d), (a), (c)

10) Arrange the descending order of the following districts regarding child sex-ratio (0-6) as per the

2011 census.

a) Chandrapur b) Jalgaon c) Beed d) Gondiya

Answer Option :

1) (d), (b), (c), (a) 2) (c), (b), (a), (d) 3) (d), (a), (b), (c) 4) (b), (d), (a), (c)

11) gZ 2011 À¶m OZJUZoZwgma qbJ-JwUmoÎma ‘hmamï´>mVrb ...... {Oëhm eodQy>Z ghmì¶m H«$‘m§H$mda hmoVm.
1) ~rS> 2) Zm§XoS> 3) ‘§w~B© CnZJa 4) Am¡a§Jm~mX

11) According to the 2011 census, ...... district in Maharashtra was ranked sixth in te sex-ratio from

the bottom.

1) Beed 2) Nanded 3) Mumbai Suburb 4) Aurangabad

12) ^maVmÀ¶m bmoH$g§»¶oÀ¶m nwT>o ¶oUmè¶m àjonU g§~§Yr Imbrb {dYmZm§n¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶ AmhoV ?
a) nwT>o ¶oUmao AZw‘mZ 21 amÁ¶o Am{U 1 g§KamÁ¶joÌ {dMmamV KoD$Z ‘m§S>brV.
b) ^maVmMr bmoH$g§»¶m 121.1 H$moQ>r dê$Z 151.8 H$moQ>r BVH$s dmT>Uo Ano{jV Amho. (2011 nmgyZ Vo 2036 n¶ªV)
c) ñWyb OÝ‘Xa 2011 Vo 2015 ‘Yrb 19.6 nmgyZ 2031-35 ‘Ü¶o 13.0 Agm KQ>ob.
d) d¥Õ bmoH$m§Mr g§»¶m 10 H$moQ>r (2011) nmgyZ 2036 n¶ªV 23 H$moQ>r Aer XþßnQ>rhÿZ A{YH$ dmT>ob Ago Ano{jV

Amho.
e) qbJ JwUmoÎma 2011 ‘rb 943 dê$Z 2036 ‘Ü¶o 929 BVH$m KQ>ob.
n¶m©¶r CÎmao …
1) (a) Am{U (b) 2) (c) Am{U (d) 3) (a), (b), (c) Am{U (d)       4) ’$º$  (e)



For Private Circulation Only

JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : ŷJmob / 48

12) As per Projections about population of India, which of the following statements is/are correct ?

a) Projections are based on consideration of 21 States and 1 Union Territory.

b) Population of India is expected to increase from 121.1 cr to 151.8 cr during 2011 - 2036.

c) Crude birth rate will decline from 19.6 in 2011-15 to 13.0 during 2031-35.

d) Number of older | persons is expected to increase by more than double from 10 cr in 2011 to

‘23 cr in 2036.

e) Sex ratio will decline from 943 in 2011 to 929 in 2036.

Answer Options :

1) (a) and (b) 2) (c) and {d) 3) (a), (b), (c) and (d) 4) Only (e)

13) ‘hmamï´>mg§X^m©V Imbrb {dYmZo nhm (OZJUZm 2011).
a) 2001 Vo 2011 ¶m Xedm{f©H$ H$mim‘Ü¶o bmoH$g§»¶m d¥ÕrXa Joë¶m XeH$mÀ¶m (1991-2001) VwbZoV 6.74

JwUm§Zr KQ>bm.
b) 2001-2011 ¶m Xedm{f©H$ H$mim‘Ü¶o gdm©V OmñV bmoH$g§»¶m dmT>rÀ¶m XamMr Zm|X nwUo {OëømV Pmbobr {XgyZ

¶oVo.
n¶m©¶r CÎmao …
1) {dYmZ (a) ~amo~a Zmhr, (b) ~amo~a Amho. 2) XmoÝhr {dYmZo (a) Am{U (b) ~amo~a ZmhrV.
3) XmoÝhr {dYmZo (a) Am{U (b) ~amo~a AmhoV. 4) {dYmZ (b) ~amo~a Zmhr, (a) ~amo~a Amho.

13) Observe the following statements regarding Maharashtra (census 2011).

a) Decade 2001-2011 when compared with previous decade (1991-2001) shows an reduction in

population growth rate by 6.74 points.

b) In 2001-2011 decade the highest population growth rate has been recorded in Pune district.

Answer Option :

1) Statement (a) is not correct, (b) is correct 2) Both statements (a) and (b) are not correct

3) Both statements (a) and (b) are correct 4) Statement (b) is not correct, (a) is correct

14) Imbrb {dYmZo nhm.
a) ‘mëWgÀ¶m ‘Vo bmoH$g§»¶m d AÞYmÝ¶mMo CËnmXZ XmoÝhr dmT>VmV.
b) ‘mëWgÀ¶m ‘Vo bmoH$g§»¶oMr dmT> ^m¡{‘{VH$ loUrZo d AÞYmÝ¶ CËnmXZ J{UVr loUrZo hmoVo.
c) ‘mëWgÀ¶m ‘Vo bmoH$g§»¶oMr dmT> J{UVr loUrZo d AÞYmÝ¶ CËnmXZ ^m¡{‘{VH$ loUrZo hmoVo.
n¶m©¶r CÎmao …
1) ’$º$ (a) ~amo~a Amho. 2) ’$º$ (b) ~amo~a Amho.
3) {dYmZo (a) Am{U (b) ~amo~a AmhoV. 4) {dYmZo (a), (b) Am{U (c) ~amo~a AmhoV.

14) Observe the following statements :

a) According to Malthus population and food production both are increased.

b) According to Malthus population increases in Geometrical progression & food production

increases in mathematical progression.

c) According to Malthus population increases in mathematical progression and food production®

increases in Geometrical progression.

Answer Options :

1) only statement (a) is correct. 2) only statement (b) is correct.

3) statements (a) and (b) are correct. 4) statements (a), (b) and (c) are correct.

15) {dH${gV XoemVrb OZZà‘mU H$‘r AgÊ¶mMo Imbrbn¡H$s H$moUVo EH$ H$maU Zmhr?
1) Hw$Qw>§~mMm AmH$ma bhmZ R>odÊ¶mH$S>o H$b 2) Cƒ amhUr‘mZ
3) ZmJarH$aU 4) {ó¶m§‘Yrb namdb§~Z
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15) Which of the following is not a reason for low birth rate in developed countries ?

1) Tendency to keep family size small 2) High standard of living

3) Urbanization 4) Dependency of women

16) A ©̂H$ ‘¥Ë¶Vm© åhUOo …
a) ‘¥V ~mi OÝ‘Uo b) J ©̂nmVm‘wio hmoUmam ‘¥Ë¶y
c) OÝ‘bobo ~mi EH$m dfm©À¶m AmV ‘¥V nmdUo d) J ©̂ ‘¥Ë¶y
darbn¡H$s H$moUVo n¶m©¶ ~amo~a Amho/AmhoV ?
1) ’$º$ (a) 2) ’$º$ (b) 3) ’$º$ (c) 4) darbn¡H$s Zmhr

16) Infant Mortality means :

a) Still birth b) Death due to abortion

c) Death of a baby born within one year d) Fetal death

Which of the option(s) given above is/are correct ?

1) Only (a) 2) Only (b) 3) Only (c) 4) None of the above

 ^mfm, O‘mVr Am{U d§e
1) Am{XdmgtZm Imbrbn¡H$s H$moUH$moUË¶m ZmdmZo g§~moYbo OmVo ?

a) dÝ¶OmVr b) {JarOZ c) AZwgyMrV O‘mVr d) ‘yi {Zdmgr
n¶m©¶r CÎmao …
1) (a), (b) Am{U (d) 2) (c) Am{U (d) 3) (b) Am{U (d) 4) darbn¡H$s gd©

1) Tribals are refered to by which of the following names ?

a) Vanyejati b)  Girijan c) Scheduled Tribes d) Mulnivashi

Answer Options :

1) (a), (b) and (d) 2) (c) and (d) 3) (b) and (d) 4) All of the above

2) {n½‘r bmoH$m§Mo Imbrbn¡H$s H$moUVo emar[aH$ d¡{eï>o ~amo~a AmhoV ?
A) Vo OmñV C§MrMo AgVmV ~) Ë¶m§Mm dU© {ndiga AgVmo
H$) Ë¶m§Mo ZmH$ MnQ>o AgVo S>) Ë¶m§Mo AmoR> ~marH$ AgVmV
n¶m©¶r CÎmao …
1) ’$º$ S> 2) A Am{U ~ 3) ~ Am{U H$ 4) H$ Am{U S>

2) Which of the following physical features of pigmi people are right ?

a) They are over heighted b) Their colour is yellowish

c) Their nose is flat d) Their lips are slim

Answer Option :

1) only d 2) a and b 3) b and e 4) c and d

3) Imbrbn¡H$s H$moUË`m amÁ`mV "V‘bmSy>', "gm§JHo$Z', "Amo{O`mbo' Am{U "‘mo{nZ' gU gmOao Ho$bo OmVmV?
1) AéUmMb àXoe 2) H$Zm©Q>H$ 3) {h‘mMb àXoe 4) Jmodm

3) In which of the following states are the “Tamladu’, ‘Sangken’, ‘Ojiyale’ and ‘Mopin’ festivals

celebrated?

1) Arunanchal Pradesh 2) Karnataka 3) Himachal Pradesh 4) Goa

ñWmZo Am{U gr‘m

______
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‘hmamîQ́> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h

(2) ŷJmob KQ>H$mdarb 2023 gmbmVrb E‘nrEggr narjoVrb àíZ

1) n¥Ïdr - gỳ ©‘mbm,  n[adbZ d n[a «̂‘U
1-2 2-3 3-2

2) Ajm§e Am{U aoIm§e - à‘mU Am{U
ñWm{ZH$ doi

3) n¥ÏdrMo A§Va§J - ŷH§$n Am{U Ádmbm‘wIr,

IS>H$, ŷéno, ^m¡Jmo{bH$ d¡{eï²>̀ o

1-2 2-3 3-3 4-2 5-2 6-3
7-2 8-4

4) OmJ{VH$ {d^mJ - nd©V, dmao Am{U
‘hmgmJa àdmh, dmXio

1-1 2-4 3-1 4-2 5-4 6-2
7-4 8-2 9-4

5) hdm‘mZ - dmVmdaU, ½bmo~b dm°{‘ªJ
1-1 2-4 3-3 4-3 5-4 6-4
7-4 8-1 9-4 10-3

6) nO©Ý¶‘mZ - ‘hmnya, XþîH$mi, qgMZ
ì¶dñWm

1-1 2-4 3-4 4-3 5-2 6-4
7-3 8-1

7) ZÚm - YaUo Am{U àH$ën
1-2 2-3 3-2 4-1 5-1 6-2
7-3 8-2 9-4 10-x 11-x 12-3
13-2 14-x

8) ^m¡{VH$ ŷJmob - nd©V, nR>ma,
dmid§Q>, {H$ZmanÅ>r, ~oQ>o

1-2 2-2 3-2 4-4 5-4 6-1
7-3

9) dZo Am{U dZñnVr, n[apñW{VH$s, n`m©daU
1-4 2-2 3-2 4-2 5-1 6-1
7-1 8-4 9-4 10-1 11-4 12-2
13-1 14-1 15-1 16-1 17-4 18-4
19-2 20-2

10)  ‘hmamḯ>mVrb O{‘ZrMo àH$ma
1-2 2-3 3-4 4-4 5-1 6-1
7-4 8-4 9-4 10-2

11) à‘wI {nHo$ - eoVr
1-2 2-1 3-1 4-2 5-3 6-3

7-3 8-1 9-1

12) ehao Am{U ZmJarH$aU
1-1 2-1 3-2 4-1 5-4 6-4
7-4 8-4 9-3 10-3 11-4 12-4
13-4 14-3 15-3 16-3 17-3 18-3
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13) Am{W©H$ ŷJmob - I{ZOo Am{U D$Om©
g§gmYZo, dmhVyH$ Am{U n ©̀Q>Z

I{ZOo Am{U D$Om© g§gmYZo

1-3 2-1 3-4

dmhVyH$ Am{U n ©̀Q>Z

1-2 2-2 3-2 4-2 5-1 6-2
7-3 8-3

14) CÚmoJ
1-2 2-x 3-4 4-2

15) amOH$s` ŷJmob - bmoH$g§»`m, ^mfm,
O‘mVr Am{U d§e, ñWmZo Am{U gr‘m

bmoH$g§»`m

1-1 2-1 3-4 4-2 5-3 6-4

7-2 8-1 9-1 10-3 11-4 12-3
13-4 14-3 15-4 16-3

 ^mfm, O‘mVr Am{U d§e

1-4 2-3 3-1

ñWmZo Am{U gr‘m


